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Question Id : 92090610123 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to the United Nations (UN) population estimates, this yvear, the population
of India surpassed or will surpass that of China. Since 1950, the vear the UN began
keeping track of population data, China has been the most populous country. In the
forthcoming decades, perhaps even centuries, this position will belong to India.

A key question that has resurfaced in this background is whether the large population
is the bane of the Indian economy or boon for it.

Two relevant gquestions

In answering this question, the common practice is to compare India to China. But
this iz wholly misleading since the policy histories of the two countries are wastly
different, China iz a much richer country today than India. This means that even if it 18
at a disadvantage purely in terms of the composition of its population — for example,
those 65 vears or older make 13% of its population against only 7% of India’s — it may he
better placed to take care of its elderly.

The right wayv to pose the question therefore is not a comparison with China but to
ask whether on a net basiz a vounger and larger population is more beneficial than an
older and smaller population for the country.

These are two distinct questions with the first relating to the composition and the
second to the size of the population. As such, they must be considered separately in
SUCCEssion.

Young demography helps

It should be relatively uncontroversial that the advantages of a voung population far
outweigh its disadvantages. First, a vounger population translates in a proportionately
large workforce and therefore higher gross domestic product (GDP) given the technology
and volume of capital available,

Second, given that the voung save more than the old, a younger population also
translates in higher saving and therefore higher investment. The higher investment
further adds to the GDP. Finally, a younger population brings greater energy and
vibrancy to a nation, leading to more innovation and its greater exploitation.

A concern commonly expressed about a younger population is that it leads to greater
unemployment. But the unemployment rate depends on policies, which surely do not
depend on the age composition of the population.

Underemployment challenge

Factually, the unemployment rate in India has been consistently low in the 3-5%
range, As I have argued in numerous writings, unemplovment is not India’s problem, it
18 underemployment. On this score, the output per worker has seen a clear rising trend
{meaning declining underemployment) alongside rising workforce in the post-reform era.
What 1z needed 1s acceleration in this trend. That in turn required further policy reform,
not the older population.

Turning to the size question, I would argue that the benefits of a larger population
also far outweigh its costs. There are vast benefits arising from economies of seale in the
provision of public goods. Takes, for example, India’s digital infrastructure. Once this
infrastructure 1s created, ‘it 15 there for all to use.
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In the passage there are references to two different questions. They are related to:

(A)  Composition

(B)  Size of the population
(C)  Technology and volume
(D)  Unemployment

Find the most approprite options :

(1) (A) and (C)

(2) (A) and (B)

(3 (A), (B), and (C)
(4)  (A), (B), and ()
Options :
92090640001. 1
92090640002. 2

92090640003. 3
92090640004. 4

Question Number : 2 Question Id : 92090610125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the writer how China is better placed to take care of its elderly?

(1)  Its elderly population is older and richer than most indian population.
(2)  The older population requires less care and is self dependent.
(3)  Those 65 years or older make 13% of its population.
(4)  Only 7% of chinese population are 65 vears or older.
Options :
92090640005. 1
92090640006. 2

92090640007. 3
92090640008. 4

Question Number : 3 Question Id : 92090610126 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Person not having sufficiently demanding paid work 1s:
(1) Semiemployved (2) Overemployed
(3)  Underemployved {4) Less employed

Options :



92090640009. 1
92090640010. 2
92090640011. 3
92090640012. 4

Question Number : 4 Question Id : 92090610127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of ‘Bane’ 1a:

(1) Boon {2y Gaft
{3) Curse {4) Challenge

Options :

92090640013. 1
92090640014. 2
92090640015. 3
92090640016. 4

Question Number : 5 Question Id : 92090610128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one word substitution for * thing that 1s helpful or beneficial” or which is a

fovour 1s:-

(1) Bane (2) Boon
(3)  Boondocks (4) Boong
Options :

92090640017. 1
92090640018. 2
92090640019. 3
92090640020. 4
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According to the United Nations (UN) population estimates, this yvear, the population
of India surpassed or will surpass that of China. Since 1950, the vear the UN began
keeping track of population data, China has been the most populous country. In the
forthcoming decades, perhaps even centuries, this position will belong to India.

A key question that has resurfaced in this background i1s whether the large population
is the bane of the Indian economy or boon for it.

Two relevant gquestions

In answering this question, the common practice is to compare India to China. But
this 13 wholly misleading since the policy histories of the two countries are vastly
different, China iz a much richer country today than India. This means that even if it is
at a disadvantage purely in terms of the composition of its population — for example,
those 65 vears or older make 13% of its population against only 7% of India’s — it may he
better placed to take care of its elderly.

The right way to pose the question therefore is not a comparison with China but to
ask whether on a net basis a younger and larger population is more beneficial than an
older and smaller population for the country.

These are two distinct questions with the first relating to the composition and the
second to the size of the population. As such, they must be considered separately in
succession.

Young demography helps

It should be relatively uncontroversial that the advantages of a yvoung population far
outweigh its disadvantages. First, a vounger population translates in a proportionately
large workforce and therefore higher gross domestic product (GDP) given the technology
and volume of capital available,

Second, given that the yvoung save more than the old, a vounger population also
translates in higher saving and therefore higher investment. The higher investment
further adds to the GDP. Finally, a younger population brings greater energy and
vibrancy to a nation, leading to more innovation and its greater exploitation.

A concern commonly expressed about a younger population is that it leads to greater
unemployment, But the unemployment rate depends on policies, which surely do not
depend on the age composition of the population.

Underemployment challenge

Factually, the unemployment rate in India has been consistently low in the 3-5%
range, As I have argued in numerous writings, unemplovment is not India’s problem, it
is underemployment. On this score, the output per worker has seen a clear rising trend
({meaning declining underemployment) alongside rising workforce in the post-reform era.
What is needed is acceleration in this trend. That in turn required further policy reform,
not the older population.

Turning to the size question, I would argue that the benefits of a larger population
also far outweigh its costs. There are vast benefits arising from economies of seale in the
provigion of public goods. Takes, for example, India’s digital infrastructure. Onece this
infrastructure iz created, ‘it 15 there for all to use.

Sub questions
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Instruction Time : 0
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In the passage there are references to two different questions. They are related to:

(4) Composition

(B) Size of the population
(C)  Technology and volume
(D) Unemployment

Find the most approprite options :

(1) (A) and (C)
(2) (A) and (B)
(3) iA), (B), and (C)
4) (A, (B), and (D)

Options :

92090640001. 1
92090640002. 2
92090640003. 3
92090640004. 4

Question Number : 2 Question Id : 92090610125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the writer how China is better placed to take care of its elderly?

(1) Its elderly population is older and richer than most indian population,
(2)  The older population requires less care and is self dependent.
(3)  Those 65 years or older make 13% of its population.

{(4)  Only 7% of chinese population are 65 years or older.

Options :

92090640005. 1
92090640006. 2
92090640007. 3
92090640008. 4

Question Number : 3 Question Id : 92090610126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Person not having sufficiently demanding paid work 1=

(1) Semiemploved (2) Overemployed
(3)  Underemploved {(4) Less employed
Options :

92090640009. 1



92090640010. 2
92090640011. 3
92090640012. 4
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The synonym of ‘Bane’ 1a:

(1) Boon () Gaft
(3) Curse (4) Challenge

Options :

92090640013. 1
92090640014. 2
92090640015. 3
92090640016. 4

Question Number : 5 Question Id : 92090610128 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one word substitution for * thing that 1s helpful or beneficial” or which 1s a
fovour 1s:-

(1)  Bane (2) Boon
(3)  Boondocks (4) Boong
Options :

92090640017. 1
92090640018. 2
92090640019. 3
92090640020. 4
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According to the United Nations (UN) population estimates, this yvear, the population
of India surpassed or will surpass that of China. Since 1950, the vear the UN began
keeping track of population data, China has been the most populous country. In the
forthcoming decades, perhaps even centuries, this position will belong to India.

A key question that has resurfaced in this background i1s whether the large population
is the bane of the Indian economy or boon for it.

Two relevant gquestions

In answering this question, the common practice is to compare India to China. But
this 13 wholly misleading since the policy histories of the two countries are vastly
different, China iz a much richer country today than India. This means that even if it is
at a disadvantage purely in terms of the composition of its population — for example,
those 65 vears or older make 13% of its population against only 7% of India’s — it may he
better placed to take care of its elderly.

The right way to pose the question therefore is not a comparison with China but to
ask whether on a net basis a younger and larger population is more beneficial than an
older and smaller population for the country.

These are two distinct questions with the first relating to the composition and the
second to the size of the population. As such, they must be considered separately in
succession.

Young demography helps

It should be relatively uncontroversial that the advantages of a yvoung population far
outweigh its disadvantages. First, a vounger population translates in a proportionately
large workforce and therefore higher gross domestic product (GDP) given the technology
and volume of capital available,

Second, given that the yvoung save more than the old, a vounger population also
translates in higher saving and therefore higher investment. The higher investment
further adds to the GDP. Finally, a younger population brings greater energy and
vibrancy to a nation, leading to more innovation and its greater exploitation.

A concern commonly expressed about a younger population is that it leads to greater
unemployment, But the unemployment rate depends on policies, which surely do not
depend on the age composition of the population.

Underemployment challenge

Factually, the unemployment rate in India has been consistently low in the 3-5%
range, As I have argued in numerous writings, unemplovment is not India’s problem, it
is underemployment. On this score, the output per worker has seen a clear rising trend
({meaning declining underemployment) alongside rising workforce in the post-reform era.
What is needed is acceleration in this trend. That in turn required further policy reform,
not the older population.

Turning to the size question, I would argue that the benefits of a larger population
also far outweigh its costs. There are vast benefits arising from economies of seale in the
provigion of public goods. Takes, for example, India’s digital infrastructure. Onece this
infrastructure iz created, ‘it 15 there for all to use.

Sub questions
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Instruction Time : 0
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In the passage there are references to two different questions. They are related to:

(4) Composition

(B) Size of the population
(C)  Technology and volume
(D) Unemployment

Find the most approprite options :

(1) (A) and (C)
(2) (A) and (B)
(3) iA), (B), and (C)
4) (A, (B), and (D)

Options :

92090640001. 1
92090640002. 2
92090640003. 3
92090640004. 4

Question Number : 2 Question Id : 92090610125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the writer how China is better placed to take care of its elderly?

(1) Its elderly population is older and richer than most indian population,
(2)  The older population requires less care and is self dependent.
(3)  Those 65 years or older make 13% of its population.

{(4)  Only 7% of chinese population are 65 years or older.

Options :

92090640005. 1
92090640006. 2
92090640007. 3
92090640008. 4

Question Number : 3 Question Id : 92090610126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Person not having sufficiently demanding paid work 1=

(1) Semiemploved (2) Overemployed
(3)  Underemploved {(4) Less employed
Options :

92090640009. 1



92090640010. 2
92090640011. 3
92090640012. 4

Question Number : 4 Question Id : 92090610127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of ‘Bane’ 1a:

(1) Boon () Gaft
(3) Curse (4) Challenge

Options :

92090640013. 1
92090640014. 2
92090640015. 3
92090640016. 4

Question Number : 5 Question Id : 92090610128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one word substitution for * thing that 1s helpful or beneficial” or which 1s a
fovour 1s:-

(1)  Bane (2) Boon
(3)  Boondocks (4) Boong
Options :

92090640017. 1
92090640018. 2
92090640019. 3
92090640020. 4
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The most suitable antonym of the given word ‘HOLISTIC is:

(1) Piecemeal (2) Fearless
(3) Deletion {4) Inadequate
Options :

92090640021. 1
92090640022. 2
92090640023. 3
92090640024. 4
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Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word ‘HOLISTIC is:

(1) Piecemeal (2) Fearless
(3) Deletion {4) Inadequate
Options :

92090640021. 1
92090640022. 2
92090640023. 3
92090640024. 4

Question Number : 6 Question Id : 92090610129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word ‘HOLISTIC® is:

(1) Piecemeal (2} Fearless

(3) Deletion {(4) Inadequate

Options :

92090640021. 1
92090640022. 2
92090640023. 3
92090640024. 4
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One who eats human flesh 1s:

(1) Canine (2) Cabal

(3) Cirrhosis (4) Cannibal

Options :

92090640025. 1
92090640026. 2
92090640027. 3
92090640028. 4
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Correct Marks : 4 Wrong Marks : 1

One who eats human flesh 1s:

(1) Canine (2) Cabal

(3) Cirrhosis (4) Cannibal

Options :

92090640025. 1
92090640026. 2
92090640027. 3
92090640028. 4

Question Number : 7 Question Id : 92090610130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

One who eats human flesh 1s:

(1) Canine (2) Cabal

(3) Cirrhosis (4) Cannibal

Options :

92090640025. 1
92090640026. 2
92090640027. 3
92090640028. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the given options:

In a bid to check urban apathy voters, the Election commission had
decided hold the poll the middle the week to prevent
people planning an outing by clubbing the poll day holiday with the weekend break.
(1) among, of, to, in (2) among, with, in, on

(3) among, to, in, of {4) among, on, of, in

Options :

92090640029. 1
92090640030. 2
92090640031. 3
92090640032. 4

Question Number : 8 Question Id : 92090610131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the given options:

In a lid to check urban apathy voters, the Election commission had
decided hold the poll the maddle the week to prevent
people planning an outing by clubbing the poll day holiday with the weekend break.
(1) among, of, to, in (2) among, with, in, on

(3) among, to, in, of {4) among, on, of, 1n

Options :

92090640029. 1
92090640030. 2
92090640031. 3
92090640032. 4

Question Number : 8 Question Id : 92090610131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the given options:

In a hid to check urban apathy voters, the Election commission had
decided hold the poll the middle the week to prevent
people planming an outing by clubbing the poll day holiday with the weekend break.
(1) among, of, to, in (2) among, with, in, on

(3) among, to, in, of {(4) among, on, of, 1n

Options :
92090640029. 1
92090640030. 2



92090640031. 3
92090640032. 4
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Rearrange the following sentences into a meaningful paragraph:

{(A) Research confirms that retaining mental sharpness requires certain life style
interventions, specifically, adjusting what and how you eat, how much you
exercise, how vou deal with life’s challenges and how vou interact with others.

(B) The good news is that declining hrain health and cognitive loss are not in
evitable.

(C) If you trun these behaviours into habits that you can sustain over the long
term that will have drametic effects not only on vour cognitive fitness, but also
on your overall health.

(D) Maintaining cognitive fitness reqgiures far more than a simple “train your
brain” programme or diet as some guick fix online programmes suggest:

Choose the correct answer from the options given below :

(1) (B (D), (A), (C)
(2) (B, (A), (C), (D)
(3) (A (C), (B). (D)
(4 (A), D), (B), (C)

Options :

92090640033. 1
92090640034. 2
92090640035. 3
92090640036. 4

Question Number : 9 Question Id : 92090610132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences into a meaningful paragraph:

(A)  Research confirms that retaining mental sharpness requires certain life style
interventions, specifically, adjusting what and how you eat, how much you
exercise, how vou deal with life’s challenges and how vou interact with others.

(B) The good news is that declining hrain health and cognitive loss are not in
evitable.

(C) If you trun these behaviours into habits that vou can sustain over the long
term that will have drametic effects not only on vour cognitive fitness, but also
on your overall health.

(D) Maintaining cognitive fitness reqgiures far more than a simple “train your
brain” programme or diet as some guick fix online programmes suggest:

Choose the correct answer from the options given below :

(1)  (B). (D), (A), (C)
(2)  (B), (A), (O), (D)
(3) (A (C), (B), (D)
(4)  (A), (D), (B), (C)

Options :

92090640033. 1
92090640034. 2
92090640035. 3
92090640036. 4

Question Number : 9 Question Id : 92090610132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rearrange the following sentences into a meaningful paragraph:

(A)  Research confirms that retaining mental sharpness requires certain life style
interventions, specifically, adjusting what and how you eat, how much you
exercise, how vou deal with life’s challenges and how vou interact with others.

(B) The good news is that declining hrain health and cognitive loss are not in
evitable.

(C) If you trun these behaviours into habits that vou can sustain over the long
term that will have drametic effects not only on vour cognitive fitness, but also
on your overall health.

(D) Maintaining cognitive fitness reqgiures far more than a simple “train your
brain” programme or diet as some guick fix online programmes suggest:

Choose the correct answer from the options given below :

(1)  (B). (D), (A), (C)
(2)  (B), (A), (O), (D)
(3) (A (C), (B), (D)
(4)  (A), (D), (B), (C)

Options :

92090640033. 1
92090640034. 2
92090640035. 3
92090640036. 4
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Fill in the blanks in List I with correct group of prepositions given in hst 11 :

Last I List 11

{A) Mrs, Kapoor, the (I) onbehalf, next to, in
neighbour, who lived place of in front of,
her mansion moved inplace of
Manah the cold.

(B the PTA, MsVerma (II) according to, priarto,
stood the podium with in, because of

the crowd the

President and presented him
with a plaque.

() a report published the (III) because of, ontop of,
cost of living to COVID along with, inspite of
19 was the reach of the
common, but high

inflation rate past COVID 19
cost of iving has esculated.

({0)] the rain, my neighbour (IV) according to, because,
put a blue tarp his roof, next to, away from,
a fibre glass sheet but because

all measures, water did

seda pin.

Choose the correct answer from the options given below:

(1) (A, (B)-(IV), (C)-(I1T), (D)-(II)
(2)  (AIV), (B)-(I), (C)-(I), (D)-(I1I)
(3)  (A(ID), (B)-(IID), (C)-(I), (D)-(IV)
(4)  (A(ID, (B)-(ID, (C)-(IV), (D)-(I)

Options :

92090640037. 1
92090640038. 2
92090640039. 3
92090640040. 4
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Fill in the blanks in List I with correct group of prepositions given in hst 11 :

Last I List 11

{A) Mrs, Kapoor, the (I) onbehalf, next to, in
neighbour, who lived place of in front of,
her mansion moved inplace of
Manah the cold.

(B the PTA, MsVerma (II) according to, priarto,
stood the podium with in, because of

the crowd the

President and presented him
with a plaque.

() a report published the (III) because of, ontop of,
cost of living to COVID along with, inspite of
19 was the reach of the
common, but high

inflation rate past COVID 19
cost of iving has esculated.

({0)] the rain, my neighbour (IV) according to, because,
put a blue tarp his roof, next to, away from,
a fibre glass sheet but because

all measures, water did

seda pin.

Choose the correct answer from the options given below:

(1) (A, (B)-(IV), (C)-(I1T), (D)-(II)
(2)  (AIV), (B)-(I), (C)-(I), (D)-(I1I)
(3)  (A(ID), (B)-(IID), (C)-(I), (D)-(IV)
(4)  (A(ID, (B)-(ID, (C)-(IV), (D)-(I)

Options :

92090640037. 1
92090640038. 2
92090640039. 3
92090640040. 4

Question Number : 10 Question Id : 92090610133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks in List I with correct group of prepositions given in hst 11 :

Last I List 11

{A) Mrs, Kapoor, the (I) onbehalf, next to, in
neighbour, who lived place of in front of,
her mansion moved inplace of
Manah the cold.

(B the PTA, MsVerma (II) according to, priarto,
stood the podium with in, because of

the crowd the

President and presented him
with a plaque.

() a report published the (III) because of, ontop of,
cost of living to COVID along with, inspite of
19 was the reach of the
common, but high

inflation rate past COVID 19
cost of iving has esculated.

({0)] the rain, my neighbour (IV) according to, because,
put a blue tarp his roof, next to, away from,
a fibre glass sheet but because

all measures, water did

seda pin.

Choose the correct answer from the options given below:

(1) (A, (B)-(IV), (C)-(I1T), (D)-(II)
(2)  (AIV), (B)-(I), (C)-(I), (D)-(I1I)
(3)  (A(ID), (B)-(IID), (C)-(I), (D)-(IV)
(4)  (A(ID, (B)-(ID, (C)-(IV), (D)-(I)

Options :

92090640037. 1
92090640038. 2
92090640039. 3
92090640040. 4

Question Number : 11 Question Id : 92090610134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a sum of ¥ 5,000 is deposited on compound interest at 10% per annum, then the
amount received after 2 years 1s:

(1) < 6,000 (2) 6,050
(3) % 7,200 (4) ¥ 8,000

Options :
92090640041. 1



92090640042. 2
92090640043. 3
92090640044. 4

Question Number : 11 Question Id : 92090610134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a sum of ¥ 5,000 is deposited on compound interest at 10% per annum, then the
amount received after 2 years 1s:

(1) % 6,000 (2) 6,050
(3) 7,200 (4) T B.000
Options :

92090640041. 1
92090640042. 2
92090640043. 3
92090640044. 4

Question Number : 11 Question Id : 92090610134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a sum of T 5,000 is deposited on compound interest at 10% per annum, then the
amount received after 2 years is:

(1) 6,000 (2) 6,050
(3) 7,200 (4) T 8,000
Options :

92090640041. 1
92090640042. 2
92090640043. 3
92090640044. 4

Question Number : 12 Question Id : 92090610135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If cot 20° tan (90° — A ) =1, than value of A 1s:

(1)  50° (2) 450
(3) 700 (4) 60
Options :

92090640045. 1
92090640046. 2
92090640047. 3
92090640048. 4

Question Number : 12 Question Id : 92090610135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If cot 20° tan ( 90° — A ) =1, than value of A 15

(1)  50e (2) 450
(3) 700 (4) 60
Options :

92090640045. 1
92090640046. 2
92090640047. 3
92090640048. 4

Question Number : 12 Question Id : 92090610135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If cot 20° tan (90° = A ) =1, than value of A is:

(1)  50° (2) 450
(3) 700 (4) 60
Options :

92090640045. 1
92090640046. 2
92090640047. 3
92090640048. 4

Question Number : 13 Question Id : 92090610136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a % of a+b % of b= 2% of ab, then what percent of a is b?

(1) 50% (2) 75%
(3) 100% (4) 120%
Options :

92090640049. 1
92090640050. 2
92090640051. 3
92090640052. 4

Question Number : 13 Question Id : 92090610136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a%ofa+b % of b= 2% of ab, then what percent of a 15 b?

(1) 50% (2) 75%
(3) 100% (4) 120%
Options :

92090640049. 1
92090640050. 2
92090640051. 3
92090640052. 4

Question Number : 13 Question Id : 92090610136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a% of a+b % of b= 2% of ab, then what percent of a 15 b?

(1) 50% (2) 75%
(3) 100% (4) 120%
Options :

92090640049. 1
92090640050. 2
92090640051. 3
92090640052. 4

Question Number : 14 Question Id : 92090610137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The volume of eylinder 15 1408 em® and its height 15 7 cm. Find the total surface area
of the eylinder (correct to 2 decimal places).

22
Use 7 =—
(Use = -;}

(1) 352.55 em? (2) B4B.75cem?
(3) 754.29 em* (4) 458.39 cm*
Options :

92090640053. 1
92090640054. 2
92090640055. 3
92090640056. 4

Question Number : 14 Question Id : 92090610137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of eylinder 15 1408 em® and its height 15 7 cm. Find the total surface area
of the eylinder (correct to 2 decimal places).

22
Use 7 =—
(Use = -;}

(1) 352.55 em? (2) B4B.75cem?
(3) 754.29 em* (4) 458.39 cm*
Options :

92090640053. 1
92090640054. 2
92090640055. 3
92090640056. 4

Question Number : 14 Question Id : 92090610137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The volume of eylinder 15 1408 em® and its height 15 7 cm. Find the total surface area
of the eylinder (correct to 2 decimal places).

22
Use 7 =—
(Use = -;}

(1) 352.55 em? (2) B4B.75cem?
(3) 754.29 em* (4) 458.39 cm*
Options :

92090640053. 1



92090640054. 2
92090640055. 3
92090640056. 4

Question Number : 15 Question Id : 92090610138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ram has a sum of money, which is sufficient to pay either Usha's wages for 30 days or
Manika's wages for 60 days. If he employes them together, the money is sufficient to
pay their wages for how many days?

(1) 30 (2) 20
(3) 12 (4) 10
Options :

92090640057. 1
92090640058. 2
92090640059. 3
92090640060. 4

Question Number : 15 Question Id : 92090610138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ram has a sum of money, which is sufficient to pay either Usha's wages for 30 days or
Manika's wages for 60 days. If he employes them together, the money is sufficient to
pay their wages for how many days?

(1) 30 (2) 20
(3) 12 (4) 10
Options :

92090640057. 1
92090640058. 2
92090640059. 3
92090640060. 4

Question Number : 15 Question Id : 92090610138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ram has a sum of money, which is sufficient to pay either Usha’s wages for 30 days or
Manika's wages for 60 days. If he employes them together, the money is sufficient to
pay their wages for how many days?

(1) 30 (2) 20
(3) 12 (4) 10
Options :

92090640057 1
92090640058. 2
92090640059. 3
92090640060. 4

Question Number : 16 Question Id : 92090610139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following question has two statements and three conclusions. Check the
conclusion on the basic of the statement and choose the correct option from the
following:

Statements : (A) All Dogs are animals

(B) All animals are mammals

Conclusions : 1. Some Dogs are animals
2.  Some mammals are animals

All dogs are mammals

In the light of the above statements, choose the correct answer from the options given
below :

(1) Only 1 follows
(2) Only 1 and 2 follows
(3) Only 2 and 3 follows

(4) All three follows
Options :
92090640061. 1
92090640062. 2
92090640063. 3
92090640064. 4



Question Number : 16 Question Id : 92090610139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following question has two statements and three conclusions. Check the
conclusion on the basic of the statement and choose the correct option from the
following:

Statements : (A) All Dogs are animals

(B) All animals are mammals

Conclusions : 1. Some Dogs are animals
2.  Some mammals are animals

All dogs are mammals

In the light of the above statements, choose the correct answer from the options given
below :

(1) Only 1 follows
(2) Only 1 and 2 follows
(3) Only 2 and 3 follows

(4) All three follows
Options :
92090640061. 1
92090640062. 2
92090640063. 3
92090640064. 4

Question Number : 16 Question Id : 92090610139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following question has two statements and three conclusions. Check the
conclusion on the basic of the statement and choose the correct option from the
following:

Statements : (A) All Dogs are animals

(B) All animals are mammals

Conclusions : 1. Some Dogs are animals
2.  Some mammals are animals

All dogs are mammals

In the light of the above statements, choose the correct answer from the options given
below :

(1) Only 1 follows
(2) Only 1 and 2 follows
(3) Only 2 and 3 follows

(4) All three follows
Options :
92090640061. 1
92090640062. 2
92090640063. 3
92090640064. 4

Question Number : 17 Question Id : 92090610140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the answer figure which completes the figure matrix?

Problem figure

Answer figures

[
M) ‘ ‘ @ ||
|

Options :

92090640065. 1
92090640066. 2
92090640067. 3
92090640068. 4

Question Number : 17 Question Id : 92090610140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the answer figure which completes the figure matrix?

Problem figure

Answer figures

[
M) ‘ ‘ @ ||
|

Options :

92090640065. 1
92090640066. 2
92090640067. 3
92090640068. 4

Question Number : 17 Question Id : 92090610140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the answer figure which completes the figure matrix?

Problem figure

Answer figures

1) ‘ ‘ @)

|
(3) (4) .// ,-'I
Options :

92090640065. 1
92090640066. 2
92090640067. 3
92090640068. 4

Question Number : 18 Question Id : 92090610141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given information carefully to answer the question:

A family consists of six members P, Q, R, S, T, and Z. Q 1s the son of R but R 15 not
mother of Q. P and R are married couple. T is the brother of R. S is the daughter of
P and Z is the brother of P.

How many male members are there in the famly?

(1) One (2) Two
(3) Three (4) Four
Options :

92090640069. 1
92090640070. 2
92090640071. 3
92090640072. 4



Question Number : 18 Question Id : 92090610141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given information carefully to answer the question:

A family consists of six members P, Q, R, S, T. and Z. Q is the son of R but R is not
mother of Q. P and R are married couple. T is the brother of R. S is the daughter of
P and Z is the brother of P.

How many male members are there in the family?

(1) One (2) Two
(3) Three (4) Four
Options :

92090640069. 1
92090640070. 2
92090640071. 3
92090640072. 4

Question Number : 18 Question Id : 92090610141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the given information carefully to answer the question:

A family consists of six members P, Q, R. S, T, and Z. Q is the son of R but R is not
mother of Q. P and R are married couple. T is the brother of R. S is the daughter of
P and Z is the brother of P.

How many male members are there in the family?

(1) One (2) Two
(3) Three (4) Four
Options :

92090640069. 1
92090640070. 2
92090640071. 3
92090640072. 4

Question Number : 19 Question Id : 92090610142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If South — West becomes West, North — West becomes North and so on. What will
become East?

(1) South - East (2) North — East
(3) North (4) South
Options :

92090640073. 1
92090640074. 2
92090640075. 3
92090640076. 4

Question Number : 19 Question Id : 92090610142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If South — West becomes West, North — West becomes North and so on. What will
become East?

(1) South - East (2) North — East
(3) North (4) South
Options :

92090640073. 1
92090640074. 2
92090640075. 3
92090640076. 4

Question Number : 19 Question Id : 92090610142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If South — West becomes West, North — West becomes North and so on. What will
become East?

(1) South - East (2) North — East
(3) North (4) South
Options :

92090640073. 1
92090640074. 2
92090640075. 3
92090640076. 4

Question Number : 20 Question Id : 92090610143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

There are three conclusions are taken for the given statement:

Statement :  All the students of this class are average in studies. Savita is a

brilliant student.

Conclusions: [. Some students are bright in studies.

II. Savita must be working hard.

[TI. Savita is not the student of this class.

In the light of the above statement, choose the correct answer from the options given
below :

(1)
(2)
(3)
(4)

Only conelusion I follows.
Only conclusion 111 follows.
Either II or III follows.
Neither I nor II follows.

Options :

92090640077. 1
92090640078. 2
92090640079. 3
92090640080. 4

Question Number : 20 Question Id : 92090610143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are three conclusions are taken for the given statement:

Statement :  All the students of this class are average in studies.

brilliant student.
Conclusions: [. Some students are bright in studies.
II. Savita must be working hard.

III. Savita is not the student of this class.

Savita is a

In the light of the above statement, choose the correct answer from the options given

below :

(1) Only conclusion I follows.
(2) Only conclusion 111 follows.
(3) Either 11 or IIT follows.
(4) Neither I nor 11 follows.
Options :
92090640077. 1
92090640078. 2

92090640079. 3
92090640080. 4

Question Number : 20 Question Id : 92090610143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



There are three conclusions are taken for the given statement:

Statement :  All the students of this class are average in studies. Savita is a
brilliant student.

Conclusions: [. Some students are bright in studies.
II. Savita must be working hard.

III. Savita is not the student of this class.

In the light of the above statement, choose the correct answer from the options given
below :

(1) Only conclusion I follows.
(2) Only conclusion 111 follows.
(3) Either 11 or IIT follows.

(4) Neither I nor 11 follows.

Options :

92090640077. 1
92090640078. 2
92090640079. 3
92090640080. 4

Question Number : 21 Question Id : 92090610144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Photo cell converts light energy into:

(1) Heat Energy (2) Electrical energy
(3) Chemical Energy (4) Mechanical energy
Options :

92090640081. 1
92090640082. 2
92090640083. 3
92090640084. 4

Question Number : 21 Question Id : 92090610144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Photo cell converts light energy into:

(1) Heat Energy (2) Electrical energy
(3) Chemical Energy (4) Mechanical energy
Options :

92090640081. 1
92090640082. 2
92090640083. 3
92090640084. 4

Question Number : 21 Question Id : 92090610144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Photo cell converts light energy into:

(1) Heat Energy (2) Electrical energy
(3) Chemical Energy (4) Mechanical energy
Options :

92090640081. 1
92090640082. 2
92090640083. 3
92090640084. 4

Question Number : 22 Question Id : 92090610145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the first month of the Saka calendar (National Calender System):

(1) Vaishakh (2) Magha
(3) Kartik {(4) Chitra
Options :

92090640085. 1
92090640086. 2
92090640087. 3
92090640088. 4

Question Number : 22 Question Id : 92090610145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the first month of the Saka calendar (National Calender System):

(1)  Vaishakh (2) Magha
(3) Kartik (4) Chitra
Options :

92090640085. 1
92090640086. 2
92090640087. 3
92090640088. 4

Question Number : 22 Question Id : 92090610145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the first month of the Saka calendar (National Calender System):

(1)  Vaishakh (2) Magha
(3) Kartik (4) Chitra
Options :

92090640085. 1
92090640086. 2
92090640087. 3
92090640088. 4

Question Number : 23 Question Id : 92090610146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which Indian states touch the border of China?

(A) West Bengal

(B) Himachal Pradesh
(C)  Punjab

(DY Uttarakhand

Choose the correct answer from the options given below :

(1) (A) and (D) only.
(2) (B) and (D) only.
(3)  (A), (C) and (D).
(4) (C) and (D) only.



Options :

92090640089. 1
92090640090. 2
92090640091. 3
92090640092. 4

Question Number : 23 Question Id : 92090610146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Indian states touch the border of China?

(A) West Bengal

(B) Himachal Pradesh
(C) Punjab

(D) Uttarakhand

Choose the correct answer from the options given below :

(1) (A) and (D) only.
(2) (B)and (D) only.
(3) (A), (C) and (D).
(4) (C) and (D) only.

Options :

92090640089. 1
92090640090. 2
92090640091. 3
92090640092. 4

Question Number : 23 Question Id : 92090610146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Indian states touch the border of China?

(A) West Bengal

(B) Himachal Pradesh
(C)  Punjab

(Dy Uttarakhand

Choose the correct answer from the options given below :

(1) (A)and (D) only.
(2) (B)and (D) only.
(3) (A (C) and (D).
(4)  (C) and (D) only.
Options :
92090640089. 1
92090640090. 2

92090640091. 3
92090640092. 4

Question Number : 24 Question Id : 92090610147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statementl : Gaganyaan is the maiden human space flight project of India for
carrying Indian astronauts to Space. “Vyomamitra” accompanies
Indian Austronauts in Space missions.

Statement II : “Vyomamitra” 1s a famous lady astronant who accompanies the
(raganyaan space craft.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement [ and Statement Il are correct

(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement II 15 correct

Options :
92090640093. 1



92090640094. 2
92090640095. 3
92090640096. 4

Question Number : 24 Question Id : 92090610147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statementl : Gaganyaan is the maiden human space flight project of India for
carrying Indian astronauts to Space. “Vyomamitra” accompanies
Indian Austronauts in Space missions.

Statement II : “Vyomamitra” is a famous lady astronant who accompanies the
(jaganyaan space craft.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement [ and Statement I1 are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ is correct but Statement Il is incorrect

(4) Statement [ is incorrect but Statement I1 is correct

Options :

92090640093. 1
92090640094. 2
92090640095. 3
92090640096. 4

Question Number : 24 Question Id : 92090610147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statementl : Gaganyaan is the maiden human space flight project of India for
carrying Indian astronauts to Space. “Vyomamitra” accompanies
Indian Austronauts in Space missions.

Statement II : “Vyomamitra” is a famous lady astronant who accompanies the
(Gaganyaan space craft.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement [ and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

(4) Statement 1 is incorrect but Statement I1 is correct

Options :

92090640093. 1
92090640094. 2
92090640095. 3
92090640096. 4

Question Number : 25 Question Id : 92090610148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To whom does the speaker gives his resignation?

(1) Deputy speaker (2) Prime minister
(3) President (4) Governor
Options :

92090640097. 1
92090640098. 2
92090640099. 3
92090640100. 4

Question Number : 25 Question Id : 92090610148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To whom does the speaker gives his resignation?

(1) Deputy speaker (2) Prime minister
(3 President (4) Governor
Options :

92090640097. 1
92090640098. 2
92090640099. 3
92090640100. 4

Question Number : 25 Question Id : 92090610148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To whom does the speaker gives his resignation?

(1) Deputy speaker (2) Prime minister
(3 President (4) Governor
Options :

92090640097. 1
92090640098. 2
92090640099. 3
92090640100. 4

Part B: Sanskrit

Section Id : 920906202
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 63
Number of Questions to be attempted : 63

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906328
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 92090610149 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (26 to 30)
Question Label : Comprehension

aefaf@ay sese Ul uadH! Uy Saif frad -

ORAT SRIfd Hdgey faedd wday | femgao fagh: @ s
G g HE: AEUE ¥ HUd| FEA & g O { ®d 7 FIfd dlq
oS e fad: urguerd: sdenedardidan od 9 urafa) fepfad ardsw @
frera ) I -

ZEHAAH: Hod SHd Ya=aH |

ufe wreaTgd sforraam A dherd i

3 Weagd wfafdda) ofz i fEereafarfam smifa 7 waq ot snfeenfaenfy
SRGRIGd Td | faerdiared srTa: graserd dw didefad ameTead | & am agwg afgerm
A I | 31d d ey Sdary=g: Uyt Siafl:| qur fg -

"faene gdygYTH)”
Sub questions

Question Number : 26 Question Id : 92090610150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRE ST T Ay Hduay & wday sep

(y  oH (2) eIt
@ faEn (4 da:
Options :

92090640101. 1
92090640102. 2
92090640103. 3
92090640104. 4

Question Number : 27 Question Id : 92090610151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@: HI4d: 3HEW: TE: Yo 9 dd?

() AR 2 TR
@) R 4 e A
Options :

92090640105. 1



92090640106. 2
92090640107. 3
92090640108. 4

Question Number : 28 Question Id : 92090610152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadte g3 &1 9fa:e

() TR 2 gfEuf:
(3 el 4y rdafa
Options :

92090640109. 1
92090640110. 2
92090640111. 3
92090640112. 4

Question Number : 29 Question Id : 92090610153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fae gy ug: ymfydafdan o @ I - aresfer sgud e -

(1 A @) Tl
O (4 smierdfdfdEary
Options :

92090640113. 1
92090640114. 2
92090640115. 3
92090640116. 4

Question Number : 30 Question Id : 92090610154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTR IR AT B0 SIgwIad -
A OR: yierafdar &d 9 e fa
B. Hdgaly fadd w9y sy
c. o Yeargd wafafdda
D. & mm:qd:m:aasmﬁ

E. foenfad amdisw va P
mﬁ%ﬂgﬁmﬁgmmw—
1. BADEC
2. B.D,AEC
3. D,AEBC
4, C.D ABE

Options :

92090640117. 1
92090640118. 2
92090640119. 3
92090640120. 4

Question Id : 92090610149 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (26 to 30)
Question Label : Comprehension

senfotfaan sr=se ufdan ueamt usrm Iorifor forad -

TRAYR0T S Hdgey fada wddy | fengaion fagh: @ oeasf&
q: W W UL 9 | JEA A g O { &g A YA dld
ararsy e fadh: araquaa: sderadarafdar &d 7 urafa) feenfadin amaisw wa
) 3w -

SEHRTH: $od SHd Yg=aaH |

ufe Yeargd SHifeRmEar 7 dad| |

33 wegTgd wifafdda) aft i Rersaforfm sfa 7 vaq aff smienfaenty

RGN Tl | faerarey svia: grased od didefad amerea | i A ageg afgem
F grerd | 3id ud faenye gdaRea: uurdie Siafd: | qun g -

“faremy wdyRYTg |

Sub questions



Question Number : 26 Question Id : 92090610150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRE ST T Ay Hduay & wday sep

(y  oH (2) eIt
3 fa=n (4) 98k
Options :

92090640101. 1
92090640102. 2
92090640103. 3
92090640104. 4

Question Number : 27 Question Id : 92090610151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@: HI4d: 3HEW: TE: Yo 9 dd?

(1)  AfEEE: (2) aAdeE:
(3)  HEfEEE: 4) fa=mseio fads:
Options :

92090640105. 1
92090640106. 2
92090640107. 3
92090640108. 4

Question Number : 28 Question Id : 92090610152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadte g3 &1 9fa:e

() TR 2 gfEuf:
(3 el 4y rdafa
Options :

92090640109. 1
92090640110. 2
92090640111. 3
92090640112. 4



Question Number : 29 Question Id : 92090610153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 31 a1 9g: eieHader & 7 adifa - g wdud fogd -

(1)  FJEA ) aur
O RRL @) TRy
Options :

92090640113. 1
92090640114. 2
92090640115. 3
92090640116. 4

Question Number : 30 Question Id : 92090610154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTREHR AT HH0] SIaeIdd -

A O ynfedfdar od 7 wenfa

B. Hdgay fadd w9y sy

¢ 3 vsagd wfafdda

D. & 3HWI: HE: gTHI: T B
ferenfagt Arals va fFrrerd

aﬁmﬁgﬁaﬁ&gaﬁaﬁmmﬁaﬁ-
T B.ADEC
2. B.DAEC
3. D AEEBC

4. C.DABE

Options :

92090640117. 1
92090640118. 2
92090640119. 3
92090640120. 4

Question Id : 92090610149 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (26 to 30)
Question Label : Comprehension

aefaf@ay sese Ul uadH! Uy Saif frad -

ORAT SRIfd Hdgey faedd wday | femgao fagh: @ s
G g HE: AEUE ¥ HUd| FEA & g O { ®d 7 FIfd dlq
oS e fad: urguerd: sdenedardidan od 9 urafa) fepfad ardsw @
frera ) I -

ZEHAAH: Hod SHd Ya=aH |

ufe wreaTgd sforraam A dherd i

3 Weagd wfafdda) ofz i fEereafarfam smifa 7 waq ot snfeenfaenfy
SRGRIGd Td | faerdiared srTa: graserd dw didefad ameTead | & am agwg afgerm
A I | 31d d ey Sdary=g: Uyt Siafl:| qur fg -

"faene gdygYTH)”
Sub questions

Question Number : 26 Question Id : 92090610150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRE ST T Ay Hduay & wday sep

(y  oH (2) eIt
@ faEn (4 da:
Options :

92090640101. 1
92090640102. 2
92090640103. 3
92090640104. 4

Question Number : 27 Question Id : 92090610151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@: HI4d: 3HEW: TE: Yo 9 dd?

() AR 2 TR
@) R 4 e A
Options :

92090640105. 1



92090640106. 2
92090640107. 3
92090640108. 4

Question Number : 28 Question Id : 92090610152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadte g3 &1 9fa:e

() TR 2 gfEuf:
(3 el 4y rdafa
Options :

92090640109. 1
92090640110. 2
92090640111. 3
92090640112. 4

Question Number : 29 Question Id : 92090610153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fae gy ug: ymfydafdan o @ I - aresfer sgud e -

(1 A @) Tl
O (4 smierdfdfdEary
Options :

92090640113. 1
92090640114. 2
92090640115. 3
92090640116. 4

Question Number : 30 Question Id : 92090610154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTR IR AT B0 SIgwIad -

A OR: yierafdar &d 9 e fa

B. Hdgaly fadd w9y sy

c. o Yeargd wafafdda

D. & 3EW: gH: gTivl: 9 ded
faenfagn arais® a Frr

anmﬂgﬁmaﬁﬁammﬁaﬂ-
1. B, ADEC
2. B.D AEC
3. D,AEBC

4. CDABE

Options :

92090640117. 1
92090640118. 2
92090640119. 3
92090640120. 4

Sub-Section Number : 2
Sub-Section Id : 920906329
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 92090610155 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension

senferfaay srpesd ufdan ueari wurm Iofr forad -

AHdsiia- 9qy vy v faem) o fAurm: g@r: snem: 3= - SeadEw-
TR | oafdufoadedy tsfamyn Ry gaRisenyT: Je: dY gy
dwaferda+ da: | Terie: snymareg Ufasdr: | §isd uyn: sereaiym: OFdeia-TeTarRy:
Iek: § g9 IRt 9l 9 i faeraatd )

SRrIPT SIRrEon Tepasd Fragma: srardaserd fafaen: e Resear: gt a
fret w1 ey | serEaiyERaR TERIYER GG H: fAargdseiu 3|

Sub questions

Question Number : 31 Question Id : 92090610156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

3y wid et

(y O (2) U§
(3 ddR: (4 I
Options :

92090640121. 1
92090640122. 2
92090640123. 3
92090640124. 4

Question Number : 32 Question Id : 92090610157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hid guTday USHRE Ay gariswsa: 92

(y Hufaedod=yg @ ugEwfedrday
3) Weuadadsy 4)  HPEaYuday
Options :

92090640125. 1
92090640126. 2
92090640127. 3
92090640128. 4

Question Number : 33 Question Id : 92090610158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&: yH: GAvagriaH dad:?

(1) sEEd: 2 TERE
(3)  TFEURY: (4) HUTE:
Options :

92090640129. 1
92090640130. 2
92090640131. 3
92090640132. 4



Question Number : 34 Question Id : 92090610159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHaeig aqy fury v e - ares i fagmong fomd -

(1)  AFdSIETH @ =
3 furg (4) fyswm
Options :

92090640133. 1
92090640134. 2
92090640135. 3
92090640136. 4

Question Number : 35 Question Id : 92090610160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR GTHR I S Hv SgaRITIad -

A O Uy gdaierda ¥

B. FEIEUIyHT-R TERIsHw IUHH: fAarsdwnu e3maa
C. ga: 9 U9 It ol 9 ufdd erafa

D. IR fAUrT: I@r: e I

E. sRrnf ol [Epanyd Fag-a: srardaeTand fafden: faen: Reuear: fagrmnt 9 e =
sreferfaay famedy Sfudar s fagd

1. ACDEB

2 D ACBE

3 ECBAD

4 DA CERB

Options :

92090640137. 1
92090640138. 2
92090640139. 3
92090640140. 4

Question Id : 92090610155 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (31 to 35)
Question Label : Comprehension

senferfaan sresd ufden weami wyrmg oo feraa -

AHduiiad 9y faumy faved faem) a@r faunm: 9@r: snsm: 3= -
TR | gFfdufiadrday tefamEem Ry aarisenyd: e ﬁgum
FavaRera 9 | Tewfeas: sy URsen: | Hisd Uyn: SRrEaiy: HEdeaTeyRe
gc: § Ud et o 9 ofdd faeraaia)

srdeTd seETol TEoyh Maw: srardyeTd fafaw: Gen: Rieoer: Rt g
fRrera w1 Fgree | sRrEaiyTRa TeRIYY 1w [Aaedsen §3maa |

Sub questions

Question Number : 31 Question Id : 92090610156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e i watre

(m U (2 9§
(3 TR (4 W
Options :

92090640121. 1
92090640122. 2
92090640123. 3
92090640124. 4

Question Number : 32 Question Id : 92090610157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wid aurday e mEed By gariswsan: Ja?

1 fafiadudwy 2 ufdufadaday
@) Weaduday (4)  HPTEYUdwY
Options :

92090640125. 1
92090640126. 2
92090640127. 3
92090640128. 4



Question Number : 33 Question Id : 92090610158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&: H1YW: GAaRgria 9ad:?

(1) werE: ) TER:
(3) AU (4) HOME:
Options :

92090640129. 1
92090640130. 2
92090640131. 3
92090640132. 4

Question Number : 34 Question Id : 92090610159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et agy Rumy Ry e - arsfRr R R -

(1)  HAHEdeETq 2 o
3  faury (4) faveey
Options :

92090640133. 1
92090640134. 2
92090640135. 3
92090640136. 4

Question Number : 35 Question Id : 92090610160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR GTHR I S Hv SgaRITIad -

A oY Uyn: gRuiEdad 9

B. SErEAisH TERIHTR Aum: fAargdwmio gsmad
C. ga: 9 U9 It ol 9 ufdd erafa

D. IR fAUrT: I@r: e I

E. sRrnf ol [Epanyd Fag-a: srardaeTand fafden: faen: Reuear: fagrmnt 9 e =
sehferfaay fasey Sfyaay 3 faga

1. ACDEB

2 D ACBE

3 ECBAD

4 DA CEER

Options :

92090640137. 1
92090640138. 2
92090640139. 3
92090640140. 4

Question Id : 92090610155 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (31 to 35)
Question Label : Comprehension

areNfafRT oree ufdan uaari Uy Ja fred -

AHdeia =gy favry Ry e T {umm: Ta@r: sism: 32 - dead -
EYRETEAsT: | rfdufiairdy uefemem Ay aarisenym: e Y w:
FawaRe™a 9 | Tewfeay: sy UfEsen: | |isd uyH: sREaiy: HHdeiaTRyRy
gc: ¥ Ud et e = ofdd faeraara)

Feradera sgrEion Teg s Fagw: s fafae: G freoea: Gt a
fRrera w1 Fges | sraaiymTad TeRIyns 91uey: fAaedsen g3mad |

Sub questions

Question Number : 31 Question Id : 92090610156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T Hid Hafwi?

(n U4 @ Hg
(3) Jed: (4) 9o
Options :

92090640121. 1
92090640122. 2
92090640123. 3
92090640124. 4

Question Number : 32 Question Id : 92090610157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wid aiud<ay usfamed Ry gamiswmem: Ja:?

()  fafeedod=y @ ugfdufiaduday
3) wewadgdwy @) Segadudy
Options :

92090640125. 1
92090640126. 2
92090640127. 3
92090640128. 4

Question Number : 33 Question Id : 92090610158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&: 31YH: dvaRerdad T2

(1) werE: ) TER:
(3)  OFUR: (4) HUMN:
Options :

92090640129. 1
92090640130. 2
92090640131. 3
92090640132. 4

Question Number : 34 Question Id : 92090610159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tracia T Ry R e - amsR Rdwors figd -

(1)  HAFEdeaTq 2 =
3 vy @) fausy
Options :

92090640133. 1
92090640134. 2
92090640135. 3
92090640136. 4

Question Number : 35 Question Id : 92090610160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST EFHR AR HHU TR -

A. Y UuH: gaufErEH de:

B. SETEAfHHTTR TERIHTR dusn: fared@Ro g

C. Id: 9 U9 e a9 ufdd Rerfa

D. FAR! AUFT: I@R: e I

E. deranxol gy Faww: srardasmn ffay: fFen: Rege: g @ Ra s
senferEy faeey Iferaae W fagd

1. AGDEB

2 DACBE

3 ECBAD

4 DACEB

Options :

92090640137. 1
92090640138. 2
92090640139. 3
92090640140. 4

Sub-Section Number : 3
Sub-Section Id : 920906330
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090610161 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)
Question Label : Comprehension

eNffRTe Sreye ufdan uear Uy ST frad -

Sub questions

Question Number : 36 Question Id : 92090610162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y GO T G Hafar

(1) gEHEH ) HHEAHEM
(3)  goHEY (4)  STHYHETIMH
Options :

92090640141. 1
92090640142. 2
92090640143. 3
92090640144. 4

Question Number : 37 Question Id : 92090610163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

argfnforgania f& wofai mfe

(1) o @ s

3 ©eq (4) TURfEd: &
Options :

92090640145. 1
92090640146. 2



92090640147. 3
92090640148. 4

Question Number : 38 Question Id : 92090610164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3w deq U™ $d &: TIIgss: Td:?

(n  Hg: @) S
@ e () cfafor
Options :

92090640149. 1
92090640150. 2
92090640151. 3
92090640152. 4

Question Number : 39 Question Id : 92090610165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT s s e g wi-fasye: oife -

(1) HOSHHO: + TG + 30 + Y + st

(2) O + ATHO: + TR + A + S

(3)  SEEBTAHO + AT + HET: + HHYP:

(4) HT: + Pl + 901 + T + Ay + Y + P

Options :

92090640153. 1
92090640154. 2
92090640155. 3
92090640156. 4

Question Number : 40 Question Id : 92090610166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



E. et
stehferfaay fawmety Sferaay o= faga
1. BAECD

2. CD,ABE

3 DDECAEB

4. CAEBD

Options :

92090640157. 1
92090640158. 2
92090640159. 3
92090640160. 4

Question Id : 92090610161 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)
Question Label : Comprehension

srenferfaan s ufda ueami nurm S frad -

Yo Tgfe: oY ierdsyd T48y oy vafal gur wemirRmiq deq of
mﬁmﬁaﬂaqﬁaﬂwﬂﬂwﬁm Y F: O e | 989 goraeng ol wafa
A G Hog: | 3fd: I Hiar -

TreR IR HE HATGIUIGIN TS |
SOEHTAUA IS e Had|

;&a:mﬁmmﬂgﬂmﬁmmﬁmmw:mwm
ol |

Sub questions

Question Number : 36 Question Id : 92090610162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FY TIHU T Twr: Hafar

(1) HT—MHH (2) HHAdHH
(3) g (4) THYHTONH
Options :

92090640141. 1
92090640142. 2
92090640143. 3
92090640144. 4

Question Number : 37 Question Id : 92090610163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

arefnfirgeniy f& waofai ofa?

(1 o )

(3 ©EH (@) TORfEd: & F:
Options :

92090640145. 1
92090640146. 2
92090640147. 3
92090640148. 4

Question Number : 38 Question Id : 92090610164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I g SUW $d &: Tafues: UgeE:?

(1 Hek 2) S
(3) etk (4) cagfafor
Options :

92090640149. 1
92090640150. 2
92090640151. 3
92090640152. 4

Question Number : 39 Question Id : 92090610165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SRS THIRIRTEd s Te ¥eb: 3oy af-fasye: offe -
(1) SEEBTAHOE + TG + 3(0: + Y + pdE:
2y OEH + HAHO: + et + Y + s
(3)  SATEHTTE + AN + MET: + ATHYP:
@) T+ B + AL + A + A + AT + srEdE:
Options :
92090640153. 1
92090640154 2

92090640155. 3
92090640156. 4

Question Number : 40 Question Id : 92090610166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST e R faverit: v sawmyd -
A UYH]

B. aqdf

c. uHl

D. A

E. gl
srenfafaay fasely 3faday 3w R
1. B,AECD

2 CDABE

3. D.ECAB

4 CAEBD

Options :

92090640157. 1
92090640158. 2
92090640159. 3
92090640160. 4

Question Id : 92090610161 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (36 to 40)



Question Label : Comprehension

seferfaan sy ufdan ugari wsrHm Iofon ferad -

o dgfa: oy ol duesiy gday axg vafdl gy wRfnfrfq |y el
mﬁmﬁraﬂaqﬁaﬂwﬂawﬁm Y S: U ST | 944 grforararg vl vafa
TF I Fag: | 3fd: Yaad Bl -

TreR IR HHI YA |
SEHTATA RIS e Had

T G aad AFd: G Hafd | ST GRS OF: Fesie: Hafd geiHl il
d gof |
Sub questions
Question Number : 36 Question Id : 92090610162 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yl grad v o g Haldz

(1) HT—MHH (2) HMADHH
(3) oA (4) STy
Options :

92090640141. 1
92090640142. 2
92090640143. 3
92090640144. 4

Question Number : 37 Question Id : 92090610163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wrefafirdsi f& aofai @fae

(m o @ o

3 deq @ TUREE: o
Options :

92090640145. 1
92090640146. 2
92090640147. 3
92090640148. 4



Question Number : 38 Question Id : 92090610164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fade TR U Fd &: TS WY

(n gk 2)
(3)  Ha: () Togfafor
Options :

92090640149. 1
92090640150. 2
92090640151. 3
92090640152. 4

Question Number : 39 Question Id : 92090610165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OB TR s T e 3oae] ai-fasse: ofe -

(1) SIS + GG + o + Y + sTpde:

(2) O + AHAAOE + TRTTEHT + Y + snpv:

(3)  OEBTTHION + T + M1EY: + MHYP:

(4) HT: + DI + A + R + 3ET: + 34y + snads:

Options :

92090640153. 1
92090640154. 2
92090640155. 3
92090640156. 4

Question Number : 40 Question Id : 92090610166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



E. g
sepferfaay fawey 3faany 3w faga
1. BAECD

2 D ABE

i DECAEB

4 CAEBD

Options :

92090640157. 1
92090640158. 2
92090640159. 3
92090640160. 4

Sub-Section Number : 4
Sub-Section Id : 920906331
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 92090610167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TFhiewl Dot EUHT far

(1) HeHH 2) TPIE
(3} m (4) EEFEF-F{
Options :

92090640161. 1
92090640162. 2
92090640163. 3
92090640164. 4

Question Number : 41 Question Id : 92090610167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
YaFhiehH Diedl S HED?

() eHH () THIF
(3) Heh Uy (@) WeHIH
Options :

92090640161. 1
92090640162. 2
92090640163. 3
92090640164. 4

Question Number : 41 Question Id : 92090610167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YaFhiehH Diedl S HED?

() eHH () THIF
(3) Heh Uy (@) WeHIH
Options :

92090640161. 1
92090640162. 2
92090640163. 3
92090640164. 4

Question Number : 42 Question Id : 92090610168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wiferer favfad mesy sfer

()  HSdhicHEH (2) TAHGUH
3 fawadeag @) uftAETesy
Options :

92090640165. 1
92090640166. 2
92090640167. 3
92090640168. 4

Question Number : 42 Question Id : 92090610168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wiferere favferd mresy sifer

(1) HEdledr (@) drveaq
3 fawadeiag @ widEresy
Options :

92090640165. 1
92090640166. 2
92090640167. 3
92090640168. 4

Question Number : 42 Question Id : 92090610168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wiferere favferd mresy sifer

(1) HEdledr (@) drveaq
3 fawadeiag @ widEresy
Options :

92090640165. 1
92090640166. 2
92090640167. 3
92090640168. 4

Question Number : 43 Question Id : 92090610169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g YaTg: Hwm Juiefe e

1 HayaRmfeiy @) Sumareafefy
(3) Homnmig 4) HUsHHHEY
Options :

92090640169. 1
92090640170. 2
92090640171. 3
92090640172. 4

Question Number : 43 Question Id : 92090610169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
g YaTg: Hwm Juiefe e

(1) ARt 2) SumEREEE
(3) damHue @) HueHHey
Options :

92090640169. 1
92090640170. 2
92090640171. 3
92090640172. 4

Question Number : 43 Question Id : 92090610169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qHAfgdaa): Harg: Hem Jufele &

1 HayeReg 2) SumErEEEE
(3) HEMANE (4) HUSHNFE
Options :

92090640169. 1
92090640170. 2
92090640171. 3
92090640172. 4

Question Number : 44 Question Id : 92090610170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VARG &4 do- GEas?

(1)  BEeA (2) HASA
(3) Uoded @) SYddeH
Options :

92090640173. 1
92090640174. 2
92090640175. 3
92090640176. 4

Question Number : 44 Question Id : 92090610170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TAWRUEHEY &4 d¢- GEg?

() BIEgA (2) THaeH
(3)  goded (4)  fYdde
Options :

92090640173. 1
92090640174. 2
92090640175. 3
92090640176. 4

Question Number : 44 Question Id : 92090610170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &4 d¢- GES?

() Hided (2) GHEdeA
(3  Ogded @) Hdde
Options :

92090640173. 1
92090640174. 2
92090640175. 3
92090640176. 4

Question Number : 45 Question Id : 92090610171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I i e afe

m w3 ) aqdefa:
(3 PE | iG] (4) T
Options :

92090640177. 1
92090640178. 2
92090640179. 3
92090640180. 4

Question Number : 45 Question Id : 92090610171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T Sid HoeA afwre

() U= ) aqdefa:
(3 UE (4 I
Options :

92090640177. 1
92090640178. 2
92090640179. 3
92090640180. 4

Question Number : 45 Question Id : 92090610171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE Hid FUETH A

m U3 2) aqdf:
(3) U=, (4 I
Options :

92090640177. 1
92090640178. 2
92090640179. 3
92090640180. 4

Question Number : 46 Question Id : 92090610172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jawrafaer Sustiery afe -

(M  guuH (2) HETHNdH
(3) TR (4) deTFIA
Options :

92090640181. 1
92090640182. 2
92090640183. 3
92090640184. 4



Question Number : 46 Question Id : 92090610172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jawrafaer Sustiery afe -

(1) U (2) HETHITH

(3) TR (4) deTFIA
Options :

92090640181. 1
92090640182. 2
92090640183. 3
92090640184. 4

Question Number : 46 Question Id : 92090610172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jawrafaer Sustiery afe -

(1) U (2) HETHITH

(3) TR (4) deTFIA
Options :

92090640181. 1
92090640182. 2
92090640183. 3
92090640184. 4

Question Number : 47 Question Id : 92090610173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QRO Tafder S -

(1) Oefareahfs: 2 wfaf:
(3) oI (4) WEE:
Options :

92090640185. 1
92090640186. 2
92090640187. 3



92090640188. 4

Question Number : 47 Question Id : 92090610173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GRTOT TFe ifd -

(1)  Feibarahfes: ) wfaf:
(3) (4) SEET:
Options :

92090640185. 1
92090640186. 2
92090640187. 3
92090640188. 4

Question Number : 47 Question Id : 92090610173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QRO Tafien i -

()  Aefiaraifs: (2) Wi
(3 o (4) rEEy:
Options :

92090640185. 1
92090640186. 2
92090640187. 3
92090640188. 4

Question Number : 48 Question Id : 92090610174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THRRt 33 &: Tay:?

(m  FH @ &
@ N (4y e/
Options :

92090640189. 1
92090640190. 2



92090640191. 3
92090640192. 4

Question Number : 48 Question Id : 92090610174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et s &: Uea:?

(m  FH @ &
@ N (4y e/
Options :

92090640189. 1
92090640190. 2
92090640191. 3
92090640192. 4

Question Number : 48 Question Id : 92090610174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR 30 &: Tdy:?

(m  FH @ o
@ SN (4 @Y
Options :

92090640189. 1
92090640190. 2
92090640191. 3
92090640192. 4

Question Number : 49 Question Id : 92090610175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT TTas Ui Sgufar safe a1 sivarfed uen ofe -

(1) shdrged ) Siaagaed
() el @) Efaed
Options :

92090640193. 1
92090640194. 2



92090640195. 3
92090640196. 4

Question Number : 49 Question Id : 92090610175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T Ul TR Sl arel iy uaH i -

(1) siddes ) siagasd
3 sl 4  Asfged
Options :

92090640193. 1
92090640194. 2
92090640195. 3
92090640196. 4

Question Number : 49 Question Id : 92090610175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTH e Ul Sgifer seafe ared st ueH o -

(1) Sheded ) Siadasd
(3)  HHEaed (@) IfEaeEd
Options :

92090640193. 1
92090640194. 2
92090640195. 3
92090640196. 4

Question Number : 50 Question Id : 92090610176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dorarfor: 3o |ar add -

(1) e ) &&
@ Egdiue: (4) dgdife:
Options :

92090640197. 1
92090640198. 2
92090640199. 3



92090640200. 4

Question Number : 50 Question Id : 92090610176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Aol g S add -

(n  ddew: ) @&
(3)  SeqdiymE: (4) dgdife:
Options :

92090640197. 1
92090640198. 2
92090640199. 3
92090640200. 4

Question Number : 50 Question Id : 92090610176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eftorarfor: geE FHTE add -

(1) ddeE: 2) &&
@) SferdivmE: (4) ogdife:
Options :

92090640197. 1
92090640198. 2
92090640199. 3
92090640200. 4

Question Number : 51 Question Id : 92090610177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt $9F dad -

1y SrfafE: 2 TR
3  afdef: @) gupafE:
Options :

92090640201. 1
92090640202. 2
92090640203. 3
92090640204. 4



Question Number : 51 Question Id : 92090610177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty S dad -

(y e 2 TRk
@ srafeaf: ) oy
Options :

92090640201. 1
92090640202. 2
92090640203. 3
92090640204. 4

Question Number : 51 Question Id : 92090610177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T S Taidl -

() e (2) g‘ﬂm’ﬁ[:
3) et @ o afE:
Options :

92090640201. 1
92090640202. 2
92090640203. 3
92090640204. 4

Question Number : 52 Question Id : 92090610178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' 3fa wd faera -

() Cederd™ FaHgEy (2) TCAaeR™ JaHgeY
(3) GoOHR™ JAHYEY (4) TICAHE ITHIEY
Options :

92090640205. 1
92090640206. 2
92090640207. 3
92090640208. 4



Question Number : 52 Question Id : 92090610178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v 3fd i faera -

() foeders ITHgEy (2) TCABPRW JaHYEY
(3) YedeR™ JaHYEY (4) CICASRE IAHISY
Options :

92090640205. 1
92090640206. 2
92090640207. 3
92090640208. 4

Question Number : 52 Question Id : 92090610178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ 3fd ¥ faem -

(y  foeaere ITagey (2) TCOPRE JTHIEY
(3) YeaeR™ A (4) TICAPRE ITHISY
Options :

92090640205. 1
92090640206. 2
92090640207. 3
92090640208. 4

Question Number : 53 Question Id : 92090610179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
305 3fd ¥4 Fld -

(1) GEOPRE WHRE UEEE () GEOeRE HIHYeNe agad
(3) OGOAPRE YUATEYY Uhdd (4) TgOPRY AHAYEYY ggda-

Options :

92090640209. 1
92090640210. 2
92090640211. 3
92090640212. 4



Question Number : 53 Question Id : 92090610179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) JEAPRE PN UFaE () [EOSRE HHHRYE 9gae
(3) OGUBRY UYHYEYE Ushdo (4) UgUBRE HHHYTYE] dgdd-

Options :

92090640209. 1
92090640210. 2
92090640211. 3
92090640212. 4

Question Number : 53 Question Id : 92090610179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) TEUPRE AP IS () GEOPRE HEATET agaa
(3) OEUBRY UYHIEYE Ushdo (4) USUBRE HHHYTYE dgddq

Options :

92090640209. 1
92090640210. 2
92090640211. 3
92090640212. 4

Question Number : 54 Question Id : 92090610180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) Hdd - Teae Yuidbaea (@) ad - e e
(3)  Haq - Y goiddaad @) Ydq - YT gEiddad
Options :

92090640213. 1
92090640214. 2
92090640215. 3



92090640216. 4

Question Number : 54 Question Id : 92090610180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) Haq - Ve YyAEHdad 2 Yad - e Gdiieam
@) Had - U JAidddad () Yad - Ve gerddada
Options :

92090640213. 1
92090640214. 2
92090640215. 3
92090640216. 4

Question Number : 54 Question Id : 92090610180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Yadr 3fd ¥4 add -

(1) Haq - Ve QuAedad @ Yad - e fgdieasn
(3)  Ydd - U gt aan (@) Ydd - Ve Yeadidad
Options :

92090640213. 1
92090640214. 2
92090640215. 3
92090640216. 4

Question Number : 55 Question Id : 92090610181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRR RTayTE: ofE -

() 9 @ e
(3) @ (4) HAH
Options :

92090640217. 1
92090640218. 2



92090640219. 3
92090640220. 4

Question Number : 55 Question Id : 92090610181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SETRTEE] RIfAYTE: of e -

(1) 9 @
(3) Pl @) Haq
Options :

92090640217. 1
92090640218. 2
92090640219. 3
92090640220. 4

Question Number : 55 Question Id : 92090610181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SETRTEE RIfAuTE: of e -

(1 2 e
(3 @ (4) HAH
Options :

92090640217. 1
92090640218. 2
92090640219. 3
92090640220. 4

Question Number : 56 Question Id : 92090610182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wuew s der: af=r

(1) EIEIG] (2) CH
3) FHE™ 4) TEE
Options :

92090640221. 1
92090640222. 2



92090640223. 3
92090640224. 4

Question Number : 56 Question Id : 92090610182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EUHE Hid Vel gl

(1) TIEq (2) &4
3) TR 4) I
Options :

92090640221. 1
92090640222. 2
92090640223. 3
92090640224. 4

Question Number : 56 Question Id : 92090610182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUFHE Fid Ul T

() UAEq (2) &
3) TR (4) TG
Options :

92090640221. 1
92090640222. 2
92090640223. 3
92090640224. 4

Question Number : 57 Question Id : 92090610183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dea Te1dl WU sFagHdl g @i 3fa e Ifd:e

() dH"TY (2) HHIH
(3) &H=w @) FABHE
Options :

92090640225. 1



92090640226. 2
92090640227. 3
92090640228. 4

Question Number : 57 Question Id : 92090610183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e YeaTdl WU sFagdd g e 3fa s Sfde

(1) qiH- Y (2) HAH™
(3) &H=E @) PP
Options :

92090640225. 1
92090640226. 2
92090640227. 3
92090640228. 4

Question Number : 57 Question Id : 92090610183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Agam Yeardl WU sFagFHd I B’ 3fd Fw Sfda:?

(1) diH—Y (2) HAH™
(3) &H=™ @) PP
Options :

92090640225. 1
92090640226. 2
92090640227. 3
92090640228. 4

Question Number : 58 Question Id : 92090610184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faurar e -aafirfourari davmg s Feafu: wafae

(1) o (2) HFEH
(3) PIoa™ ) STET



Options :

92090640229. 1
92090640230. 2
92090640231. 3
92090640232. 4

Question Number : 58 Question Id : 92090610184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faurarHE-safi=nRHEE dard s et vafdar

(1 9™ (2) SH-<SH
(3)  IedH (4) SHTFRH
Options :

92090640229. 1
92090640230. 2
92090640231. 3
92090640232. 4

Question Number : 58 Question Id : 92090610184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faurErHE-safH=nRHEE 9aid & Feaf: vafdar

(1) T4 (2) HH<SH
(3)  ledH (4) STFRHE
Options :

92090640229. 1
92090640230. 2
92090640231. 3
92090640232. 4

Question Number : 59 Question Id : 92090610185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) HECA (2 aftsm
(3) WA 4) AFATTEA
Options :

92090640233. 1
92090640234. 2
92090640235. 3
92090640236. 4

Question Number : 59 Question Id : 92090610185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) HEA (2) afe
@) WA @) SFEdgA
Options :

92090640233. 1
92090640234. 2
92090640235. 3
92090640236. 4

Question Number : 59 Question Id : 92090610185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) HE (2) gfve
3) WA 4)  SFEdG
Options :

92090640233. 1
92090640234. 2
92090640235. 3
92090640236. 4



Question Number : 60 Question Id : 92090610186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

arruifda wrgal amdufaoad s vaid &: siagRs

(1)  Ide (2) JadE
(3) FUHH (4) T
Options :

92090640237. 1
92090640238. 2
92090640239. 3
92090640240. 4

Question Number : 60 Question Id : 92090610186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrrdffad Tl amdufaead safer o &: sgR:?

(1) Iolan (2) 394
(3) TUDH (4) AU
Options :

92090640237. 1
92090640238. 2
92090640239. 3
92090640240. 4

Question Number : 60 Question Id : 92090610186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

grTyifda Trged ardufarad safer Taid &: sagR:

(1)  IoHam (2) U
(3) TUHH (4)  HYFET:
Options :

92090640237. 1
92090640238. 2
92090640239. 3
92090640240. 4



Question Number : 61 Question Id : 92090610187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'HlﬁﬂfEFﬁTk’5?F¥?ﬁﬁ{¥ﬁhﬂ?ﬂ?ﬂﬁﬂ?

(1)  ag=didas] () e
(3)  HfeEA (4) HaIhTdl
Options :

92090640241. 1
92090640242. 2
92090640243. 3
92090640244. 4

Question Number : 61 Question Id : 92090610187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS & 7T S b e IRIg=Ia?

(1)  ggdfcaad] () duem
(3)  AfeE (4) H<HI
Options :

92090640241. 1
92090640242. 2
92090640243. 3
92090640244. 4

Question Number : 61 Question Id : 92090610187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT S 712 I [ Fe: WIgeaay

(1)  Fg-afaas! @) e
(3)  Hiferl (4) HERBTI
Options :

92090640241. 1
92090640242. 2
92090640243. 3
92090640244. 4



Question Number : 62 Question Id : 92090610188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTgdd TRGIY ey agdd|

HreTdd HdYay I: gafa & I

(1 d& (2) uld:
3) =¥ (4) ufvsw:
Options :

92090640245. 1
92090640246. 2
92090640247. 3
92090640248. 4

Question Number : 62 Question Id : 92090610188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Higdd UGy Wgady ofi¥dd|

HTdd HdYyay I: geafa &: I

M d= (2) uldE:
(3) =W (4) ufsa:
Options :

92090640245. 1
92090640246. 2
92090640247. 3
92090640248. 4

Question Number : 62 Question Id : 92090610188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTdd U¥aRy U¥Eay digad|

Hedd FdYay g: geafa & I

(1 g (2) Uit
(3) =¥ (4) uftga:
Options :

92090640245. 1
92090640246. 2



92090640247. 3
92090640248. 4

Question Number : 63 Question Id : 92090610189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"HHOUAIIHRE 1 ey dHara- |

: i e wiagtar: Sfe st faeay

(1) "y (2 fedra
3) g (4) 9%
Options :

92090640249. 1
92090640250. 2
92090640251. 3
92090640252. 4

Question Number : 63 Question Id : 92090610189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"SR 01 By darE- |

UY: Ueier: g ywadiarn: S s faeee

(1) WyAH (2 fedid
@) T @) wqd
Options :

92090640249. 1
92090640250. 2
92090640251. 3
92090640252. 4

Question Number : 63 Question Id : 92090610189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS 01 Hay derE- |-
UY: Yeier: g wiag i Sie s e
(1) WyH (2 fedid

3) gam @) agd



Options :

92090640249. 1
92090640250. 2
92090640251. 3
92090640252. 4

Question Number : 64 Question Id : 92090610190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
: g AN F3 Fard Faar 2

(1) 3fdsyay 2) Yafraiyny
(3) SEdld (4) TEUEIEH
Options :

92090640253. 1
92090640254. 2
92090640255. 3
92090640256. 4

Question Number : 64 Question Id : 92090610190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ICd: W ATITaH F Fard Fadr 2

(1)  Sedgay (2) TERriyTy
(3) FEdd (4) TEUEIH
Options :

92090640253. 1
92090640254. 2
92090640255. 3
92090640256. 4

Question Number : 64 Question Id : 92090610190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I: Y& ATaeh & FAard Faar 2

(1)  SEdgay (2) TERREiyTy
(3) SEcld (4) dEUED



Options :

92090640253. 1
92090640254. 2
92090640255. 3
92090640256. 4

Question Number : 65 Question Id : 92090610191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fedaeere Tafiar HfE -

() fawpemt 2) ARMUfvEa:
(3)  SRfdE: (4) SRS
Options :

92090640257. 1
92090640258. 2
92090640259. 3
92090640260. 4

Question Number : 65 Question Id : 92090610191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fediad e Tafiar & -

(1) fowpemi (2) ARTfvE:
(3)  SRRE: (4) SRS
Options :

92090640257. 1
92090640258. 2
92090640259. 3
92090640260. 4

Question Number : 65 Question Id : 92090610191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fedraesry Taftar 4fE -

(1)  fawpgmi @) FARMUfvET:
(3)  SRfdE: @4) I



Options :

92090640257. 1
92090640258. 2
92090640259. 3
92090640260. 4

Question Number : 66 Question Id : 92090610192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TaEIY A g -

() Aowasy 2) YIRS
(3) g (4) TUSAHH
Options :

92090640261. 1
92090640262. 2
92090640263. 3
92090640264. 4

Question Number : 66 Question Id : 92090610192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A&y 9 afEad -

()  Aifogeey 2) HIRYASHY
(3) raYEEy (4) AUSEAHY
Options :

92090640261. 1
92090640262. 2
92090640263. 3
92090640264. 4

Question Number : 66 Question Id : 92090610192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A&y 9 afEad -

(1) ey 2) YRIEHY
(3) raYEEy (4) AUSEAHY
Options :

92090640261. 1
92090640262. 2
92090640263. 3
92090640264. 4

Question Number : 67 Question Id : 92090610193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SrrgTaiaral sid siear: |fwe

(1) UFeW (2) wew
(3) HHEH (4) SPTEEI
Options :

92090640265. 1
92090640266. 2
92090640267. 3
92090640268. 4

Question Number : 67 Question Id : 92090610193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SrrgTaiaral sid siear: |fwe

(1) UFeW (2) wew
(3) W (4) SHETEH
Options :

92090640265. 1
92090640266. 2
92090640267. 3
92090640268. 4

Question Number : 67 Question Id : 92090610193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SrgTag A &fa sreamm: gf=

(1) O™ ) wew
(3) e (4) SETEH
Options :

92090640265. 1
92090640266. 2
92090640267. 3
92090640268. 4

Question Number : 68 Question Id : 92090610194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) IR (2)  SHyee:
3) HRrfa: @) Hayfe
Options :

92090640269. 1
92090640270. 2
92090640271. 3
92090640272. 4

Question Number : 68 Question Id : 92090610194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  wifeEm: (2)  SHyH:
(3) HRfE: @) Hayfe
Options :

92090640269. 1
92090640270. 2
92090640271. 3
92090640272. 4

Question Number : 68 Question Id : 92090610194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

SfFFRTG ey 3fd Areaw vl sfe

(1) HIfeIeT: (2)  SH%E:
3) HRfa: @) Haufe
Options :

92090640269. 1
92090640270. 2
92090640271. 3
92090640272. 4

Question Number : 69 Question Id : 92090610195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3y HUgY UeaH : ThH fumyay & fgdd a o srom sf&
sty & . dara aE agdfegar el
HRUM G SRy UTeT
FuFIH YA s Seifafady fdeady Sfadany 3w faqd -
(1) & W gy 9 &, oY 9 @ & SO S e ofe
(2) & W I A W, W W S S s s
3) @ 3fd 9dH, W @ g A
4) & 3fd o T, e aa el

Options :

92090640273. 1

92090640274. 2

92090640275. 3
92090640276. 4

Question Number : 69 Question Id : 92090610195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3e: HY-gd U : U H ftey=H % fgdid @ o srum sifE
ey & ;- dlarey $F dgdifgeamE fAem

HRUH G SIS UTITq

SYFIH YA el enferfeay ey 3fedarm 3w fgd -
(1) & W Y 94 &, Y 9 @ & SO g sre i
(2) & W TN I W, W W S S S e s
E

S

3) @ 3§, i E Tl iR
4) @ 3 g A, o e Ty ef|

™

Options :

92090640273. 1
92090640274. 2
92090640275. 3
92090640276. 4

Question Number : 69 Question Id : 92090610195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3Me: HY-g UedH : UhH iy % fgdid @ ow srom sifE
APy & . araR: 37 sgdifewar feR

HROM G e U

Iy s suifafady faedy Sfudany 3w g -
(1) & 9 gy 94w, o 9 @ & g gyl amen &
(2) @ W TN Il W, W W g Gyl are A
3) & 3fd 9@y, W E@ gd A

(4) @ 3fd v s, o e T el

S i’

Options :

92090640273. 1
92090640274. 2
92090640275. 3
92090640276. 4

Question Number : 70 Question Id : 92090610196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31Y: Ygd UdH : UThH S YH &, fedid 9 a8 Srom sifE|
ST F . aHA: dfl gyl g 3o afen S HHd fafRdl
HRUMH E': FUBRGY fdaférard)

SUYFIR YA SMelles Sfefiferiay fapedy e I fagd -

(1)
(2
(

o

3
(4)

o

® W YN Id &, 30 9 @ & I YR are sifkd
F W IGH Td T, Rg T &' TI THf=Ia sare &
%' 3id IGH, =] @ gl

& gfd I A1, W @ T 4

Options :

92090640277. 1
92090640278. 2
92090640279. 3
92090640280. 4

Question Number : 70 Question Id : 92090610196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31Y: Ygd UdH : UThH S YH &, fedid 9 a8 Srom sifE|
ST F . aHA: dfl gyl g 3o afen S HHd fafRdl
HRUMH E': FUBRGY fdaférard)

SUYFIR YA SMelles Sfefiferiay fapedy e I fagd -

(1)
(2
(3
(4)

T e

® W YN Id &, 30 9 @ & I YR are sifkd
F W IGH Td T, Rg T &' TI THf=Ia sare &
' 3fd TOH, R @ I i

%' gfd U I, W @ 9

Options :

92090640277. 1
92090640278. 2
92090640279. 3
92090640280. 4



Question Number : 70 Question Id : 92090610196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31%: HYAGY UgTH : UhH sfHdyH i, fgdid 9 aw o sif|
HHGYTH & A dfel 9t g 3 dfen s SHgTn fafgan
HRUH G FUHERGY Hfdaféeard|

SUaas YA Ted sfeffafady fasay Sfadand 3w faqd -

(1) & @ IgH IA &, S0 9 @ & JO- W=l sare AR
) & WIGHIA T, R @ & 39 R sare i

3) & 3fd IOy, W= @ Id A1

(4) & gfd ud T, W @ g 3w

Options :

92090640277. 1
92090640278. 2
92090640279. 3
92090640280. 4

Question Number : 71 Question Id : 92090610197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3y: FY-Tgd UedH : U iy % fgdd 9 om srom if&
fEYTH & - YHUde UHHEH ARUUS FeeRIaHH A&
HRUH @' SRvgaTH arwRii o fafats

IuardyAHT aad seiffaay ey Ifeaany I fagd -
(1) & W Y I &, oY 9@ & S yfan e e
(2) & W W I W, W @ S S il s Afs
3) @ 3fd §OH, W @ g9 A

@) & 3fd wd R, W E aa iR

Options :

92090640281. 1

92090640282 2

92090640283. 3

92090640284. 4



Question Number : 71 Question Id : 92090610197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
31ef: HYTEH e : UhH ey i i 9 e SRop o
IMFYTH F : YU da [HHEH AR0TH FeaRuadH A
HRUH G SRvgwsT aFvRilE &a fafaaf

IUYaRIB YA aaid sifofaay faway Ifaary gt fmgd -

(1) @ @ Y Id W, o 9 @ & 3w gyl e &
(2) @ @ TN I W, W @ S g gy e A

3) @ 3fd vy, W E ud A

@) & 3fd wd T, e E aa efE

Options :

92090640281. 1
92090640282. 2
92090640283. 3
92090640284. 4

Question Number : 71 Question Id : 92090610197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3y HUEY UeTH : U fimyay % fedd 9 o srom of@
BYTH F : YR dad [HHEH AR0UH FeaRuadH A&
RO G SRUgHI gyl $a fafaa

FuFIH YA e Heifafady fAeedy Sfuaary 3w fad -

(1) & W g A &, A0 9 @ & SO g sarsn s
(2) @ W Y A W, WA G D SO S srs s

3) @ 3fd 9aH, W™ a9l A

4) @ 3fd aad e, e E g efE

Options :

92090640281. 1
92090640282. 2
92090640283. 3
92090640284. 4



Question Number : 72 Question Id : 92090610198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{e: HY-g UedH : U H fHey=H & fgdid @ o srum sifE
HfPUTH A AIIEN g Ud dwi Hafd, e gdid 7 wigdi
HR G qd: AT T Ustd WoTon 3, sneTel 9 Usn = e
JudIB YA sHdid Jufafady ey Sfadan 3w faqd -

(1) & E IO I &, oY 9 @ & SR S are i

(2) & W IO I W, W S SO S e s
(
(

Tt S

3) @ 30§, g E gl i
4) @ 3fo g i, o | udy i

Options :

92090640285. 1
92090640286. 2
92090640287. 3
92090640288. 4

Question Number : 72 Question Id : 92090610198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3y HUgY UeaH : UhH sy % fgdd 9 aw srom s
AT & FEbAIER TR Ud awiE vafw, e gwid 7 wigd
HRUH G Id: AETHHA UL THTOR SfE, a2l 9 Uan 9 Jgrd
JuFIG YA el Seifafady ey Shadan 3w faqd -

(1) & W IOy I, oY 9 @ & SO S sre HfE

(2) & W IO I W, W S SO S e s
(
(

S

3) @ 3fd HOE, gig @ gl i
4) o 3 o A, W] E g efw

S

Options :

92090640285. 1
92090640286. 2
92090640287. 3
92090640288. 4



Question Number : 72 Question Id : 92090610198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{e: HY-g UedH : U H fHey=H & fgdid @ o srum sifE
iU T AATGHATTER aR Ta aw v, s g A diedi
BRI G qd: AT T Ustd WoTon 3, sneTel 9 Usn = e
JudIB YA sHdid Jufafady ey Sfadan 3w faqd -

(1) & E IO I &, oY 9 @ & SR S are i

(2) & W IO I W, W S SO S e s
(
(

Tt S

3) @ 30§, g E gl i
4) @ 3fo g i, o | udy i

Options :

92090640285. 1
92090640286. 2
92090640287. 3
92090640288. 4

Question Number : 73 Question Id : 92090610199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{Y: HY-g UedH : T iy % fgdid @ o srom sifE
HfFyT & - dgTagal TeTyRTe uy udfor ofe

HROH G SfITgTTagIaraTy HPTEY HeTn: i
IuaId AT JHrard seifefecy feay sfaany 3 e -
(1) &9 gy 94 W, o) 9@ & g0 gyl aren s
(2) @ W@ TN Il W, W 9 S g gy e A
3) & 3fd 9w, W E@ 9d A

(4) @ 3fd v K, T @ qar el

e

Options :

92090640289. 1
92090640290. 2
92090640291. 3
92090640292. 4



Question Number : 73 Question Id : 92090610199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{e: FY-gH UeaH : U iy fE fGdd @ o srom sifE
HYPYTH B ;. HHEETdGIdl HeTHRAR N udivr &

HRUH G- gAYy HPTER ST |
Uy Hrads seifefecy feddy sfmany g b -
(1) & W TN I &, Y 9 @ & 30 g s sifEd
(2) @ W TN I W, W @ S 5 Gl e A
3) & 39, W 9 9d A

4) & 3faud A, g E aar et

T

Options :

92090640289. 1
92090640290. 2
92090640291. 3
92090640292. 4

Question Number : 73 Question Id : 92090610199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3{Y: FY-g UedH : U iy % fgdd 9 o srom &
ST & - gTagral SeryRae uy udfvr ofe

HRUH G STRETTaRI Ry HPTERT ST |i
Iudata AT HHras seifefeny fedy Sfmany 3 e -
1) @ W TN O, o 9w & SO ayfd sren s
2) @ W gy I W, W 0 S g gyl aare A
3) % 3 HaH, Wi 9 9l A

4) @ 30 g T, o | uday i

e

(
(
(
(

Options :

92090640289. 1
92090640290. 2
92090640291. 3
92090640292. 4



Question Number : 74 Question Id : 92090610200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S HUEd U Uy sHfim Y= w#fE fidd = axg sy aife
HPUTH & : AU T&: Thawiy I:

HRU G g fg a1 Wddsd Uare: $a:

Iuaid UM sdld sifefady faeady Sfadany 3w fadd -

(1) & W IO I w5, Y 9 @ & SR Sl e i
(2) & W TN A W, W W S SO S e s

3) @ 3fd 9Oy g @ 9 e

@) @ 3fd g T, o | g e

Options :

92090640293. 1
92090640294. 2
92090640295. 3
92090640296. 4

Question Number : 74 Question Id : 92090610200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M HUTEd YTy Uy ity e fgdtd = avg sy sif
ey & . AUgd Y& Uhanid U

PRUH G dl fg o Wehdel TAE: $a:

IuGaIp UM Srad senferfEdy ey ity 3wt faga -
(1) & W TG I &, U 9 W & g S aren sifE
(2) & W TN I W, W G B SO Ffar s AfE
(
(

et

3) @ 3§, g E@ vl i
4y @ 3o g i, o E uay iR

S

Options :

92090640293. 1
92090640294. 2
92090640295. 3
92090640296. 4



Question Number : 74 Question Id : 92090610200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 HYgd UeTH - UeH sy e fEdtd 9 o srom s
ey & : AU U4: UHauiy Ut
HRO & g fg a1 Wddsd Uare: $a:

Iuaid UM sdld sifefady faeady Sfadany 3w fadd -

(1) & W IO I w5, Y 9 @ & SR Sl e i
(2) & W TN A W, W W S SO S e s

3) @ 3fd 9Oy g @ 9 e

@) @ 3fd g T, o | g e

Options :

92090640293. 1
92090640294. 2
92090640295. 3
92090640296. 4

Question Number : 75 Question Id : 92090610201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

31Y: HUTgd ey Uy sfidy e Gt 9 o arom sif
HFYTH & - FRER wfyE: g 3 i

BRI G': B -THE Yaaa: Hafd

IR M Med srEfafedy ey Sfrasr It fad -
(1) & @ g 94 &, Y 9@ & SO gy s HfE
2) & W ITYY A T, N W S SO Y s A
3) & 3iduEy, ®g @ ad T

@) & 3fdud e, g E aa e

Options :

92090640297. 1
92090640298. 2
92090640299. 3
92090640300. 4



Question Number : 75 Question Id : 92090610201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3Y: HYgY UewH : UHH ifHsy= % fgdid 9 o SR it
sy & - grROEe wifyrE: g 3 arfe
HRUH G - Ty Yaeadl: yafd
I RIGYTHMN e seifafaay ey sfaany 3t fd -
(1) & 9@ gy a0, o 9@ & 0w gyl amen &
(2) @ @ YN Il W, W @ S gl gyl e A
3) & 3fdvay, W E ud A
4) @ 3fd ad e, U e Ty efe

Options :

92090640297. 1

92090640298. 2

92090640299. 3
92090640300. 4

Question Number : 75 Question Id : 92090610201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3Y: HYgY Ueay : Uy sy sifE i 9 aw arom s
HFYTH & . RS whyE: gy 3fd i
HRUH G': B -THE Yaaa: Hafd
FudFISH YA e Heifafady fawey Sfdany 3w R -
(1) & @ Y 90 W, o 9@ & 0w gyl e s
(2) & W@ TYH Id W, Wl @ S I gl e A
3) & 3fd vy, W @ 9d T
4) & 3fdud e, g E wa e

Options :

92090640297. 1
92090640298. 2
92090640299. 3
92090640300. 4



Question Number : 76 Question Id : 92090610202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR -RATTHN eI HHU] SIaeIIIyd -
A UG guEidare:

B. §daHTH WH

C. 3k TR YT

D. SRR YeIHE TeTadH
E. gﬁﬁ?ﬂﬁa amg:

(1 CADEB
(2) ADERB,C
(3) CAEBD
4 B CDAE

Options :

92090640301. 1
92090640302. 2
92090640303. 3
92090640304. 4

Question Number : 76 Question Id : 92090610202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEFHGTATEN ST HHT EaRIgad -
A YF-el-guaa): Yorfdars:

B. HdGHTH WH

C. S TETR STHHE:

D. QU YeIHE TeTadH

E gafel-#s: 9

Hefferfaay ey Ifaany 3w R -

(1 CADEB
(2) ADEB,C
(3) CAEBD
4y B CDAE

Options :

92090640301. 1
92090640302. 2
92090640303. 3
92090640304. 4

Question Number : 76 Question Id : 92090610202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRFHIMGTATEN ST B0 TR -

A YIdl-guIa): yuEfdars:

B. WdaHTH WA

C. U TR SYHIC:

D. QU YeIHa TeTdcH

E gafal-#s: 9
Hepferfady faeey Ifraany 3w fa -

(1 CADEB
(2) A DERB,C
(3) CAEBD
4y B CDAE

Options :
92090640301. 1



92090640302. 2
92090640303. 3
92090640304. 4

Question Number : 77 Question Id : 92090610203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ui EIaR F¢dl H sIaeyd -
A HIfer

B. Ssddl

C oy

D. H-GERIl

E. g9y

(1) CBEAD
(2) BEADC
(3) C.DABE
(4) EACEBD
Options :
92090640305. 1
92090640306. 2
92090640307. 3
92090640308. 4

Question Number : 77 Question Id : 92090610203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A TiferE

B. Ssddl

C oY

D. H-GIhIl

E. dEyy
seferfady fasey Ifudaany I fa -
() CBEAD

@ BEAD,C

3) CDABE

(

4 EACBD

Options :

92090640305. 1
92090640306. 2
92090640307. 3
92090640308. 4

Question Number : 77 Question Id : 92090610203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Hrfert

B. S&ddl

C Sy

D. HGEHII

E ¥y

seferfady faeey Sfuaany I fee -
(1) CBEAD

2) BEADC

3) C DABE

(

4 EACBD

Options :

92090640305. 1
92090640306. 2
92090640307. 3



92090640308. 4

Question Number : 78 Question Id : 92090610204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR Tl HTUSTH HH0 TR -
A SHIHBIUSH

B. dAHISH

c. [oferememwey

D. 3RUIHIUSYH

E. gawanwsy
sehferfacy fasely Sfeaary 3w feq -

(h BADCE
(2} EDBCA
(33 ADBEC
4 CDEAEB

Options :

92090640309. 1
92090640310. 2
92090640311. 3
92090640312. 4

Question Number : 78 Question Id : 92090610204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A SUIHBIUSH
B. dURIUsH
c. fFiep=memwey
D. SRUgRUSH
E.  HAPIUSH
iy faeeiy Ifemanry I o -
(17 BADCE
{2y EDBCA
(3 ADBEC
4 CDEAEB
Options :

92090640309. 1
92090640310. 2
92090640311. 3
92090640312. 4

Question Number : 78 Question Id : 92090610204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Al HIUSTH HHU TR -
A SOIEHHUSH

B. WAHIVSH

c. fofeprmemwsy

D. 3RUGHUSH

E. goiduey
senferaay fasey Ifedany 3w fa -

(3 BADCE
(2} EDBCA
(3} ADBEC
4 CDEAEB

Options :
92090640309. 1
92090640310. 2



92090640311. 3
92090640312. 4

Question Number : 79 Question Id : 92090610205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TERUY

B. J&MUH

C SPFH

D. THH

E 3{U&Tury

srenferfaay faseiy Ifaany I R

(1) BDCEA

2) AD,CBE

3) BECAD

4) EDCBA
Options :

92090640313. 1
92090640314. 2
92090640315. 3
92090640316. 4

Question Number : 79 Question Id : 92090610205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T ESIEHERY Tal- S0l HHl SIaeidd -

A UERUH
B. J&MUH
C SPFTH
D. T

E. 3{U&mory

(1 BDCEA
(2) ADCBE
(3) BECAD
4 EDCBA

Options :

92090640313. 1
92090640314. 2
92090640315. 3
92090640316. 4

Question Number : 79 Question Id : 92090610205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS IBITHRH Tl A HH0 SIawyd -
A TERU

B. J&MUH

C. SMPFTH

D. THTH

E. HO&Toy

(1 BDCEA
2y ADCEBE
(3) BECAD
4 EDCEBA

Options :

92090640313. 1
92090640314. 2
92090640315. 3



92090640316. 4

Question Number : 80 Question Id : 92090610206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3y HyTgd ferfaan -
FYTH| DU TS T4 e
SYFH I - UG T UHadl A&
IUYFIh T STdrd, sifafaay faeeiy Ifudany 3o fomgd -

(1) YT | HYTH Il SYH T &
(2) BYTH | HYTH I TYH A &
(

(

e

3) YT I, TR HY 1 ST S
4)  HUTH | A R, g FYFH 1 FIH

e

Options :

92090640317. 1
92090640318. 2
92090640319. 3
92090640320. 4

Question Number : 80 Question Id : 92090610206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3l Py et -

YT . HAGI AE: ga: e

PUTHI - AHEEIIaR T A s
SUYRTB YA Seiidp, srefferfaey faely Sfidm 3w fgd -

1) BYFH | HYFH I Y I &
2)  HYFH | HYTH I TYH I &
3) YA 9 I, TR Y 1 S &
4)  HUTH ) A T, O FYFH 1 FIH A

e

(
(
(
(

Options :
92090640317. 1



92090640318. 2
92090640319. 3
92090640320. 4

Question Number : 80 Question Id : 92090610206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3y dHygd ferfEar -
PUTH | ;AU AP T&: A&
SYTHI ;- TS aa e e &
IURIG U e, seifafady ey Ifraary I Rk -

(1)  HYTH I HYTH I TYH T &
(2) HYUTH I HYTH Il SYH A &
(3)  HYH | T ST, U HYE 1 ey e
(4) B Hud &, T YA I T S

e

Options :

92090640317. 1
92090640318. 2
92090640319. 3
92090640320. 4

Question Number : 81 Question Id : 92090610207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3y dygd fefeary -
HYAH | - dEYdRy Udead gheuad
dyIH N R 9@R: ur: 9|

IR YT Haid, seifafady ey Ifdary 3w g -

(1)  &HYTH I YT I TgH T &:
(2) HYTH I DYTH Il T 3ED &
(3)  HYTH I T ST, U HYFH 1 S s
(4)  HYIH | SEA R, U YT || G S

LS ]



Options :

92090640321. 1
92090640322. 2
92090640323. 3
92090640324. 4

Question Number : 81 Question Id : 92090610207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hel: TyTgd fofeary -

GYFH | YA UddAd uReTugd

dyaH N - R @Ry |
TSRS Y H1elis, srehfafedy fwery I Iw fogd -

(1)  HYTH I HYFTH I Y A &:
(2)  HYTH I HYTH I T 3Ed W
(3)  PUTH | T AR, T FYTH 1 ey i
(4)  DUTH | A G, T SUEH 1 T s

Options :

92090640321. 1
92090640322. 2
92090640323. 3
92090640324. 4

Question Number : 81 Question Id : 92090610207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31t Hygd forfeas -

YA - EYdEH Udead g

YN : fedder g@R: Him: ||

SUYRTH YA SHTefids, Hefferfeiay Ry Sfddmm Iw fgd -

(1) YT | HYFH 1| 5YH T W
(2) HYTH I HYFH Il S EI W
(3)  HYTH I A AT, U] FUTH 1 I A&
(4)  PUTH | A G, T PUH I Fa &

St

Options :

92090640321. 1
92090640322. 2
92090640323. 3
92090640324. 4

Question Number : 82 Question Id : 92090610208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hy: HyTgd fofeay -

HYFH | IR UFH 4 3

YT - ATCTURATTHR Arermard: Fafol fayeof s
SUYRIBU ey, ehfafeay faaey fermaam I g -

(1)  ®YFH | BYFH 1| SGH T &
(2)  HYTH | HYTH Il TYH A &
(3) YT I T AR, TR FUFH Il I A&
4) DY | 3 G, T Py 1w e

Options :

92090640325. 1
92090640326. 2
92090640327. 3
92090640328. 4

Question Number : 82 Question Id : 92090610208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

3e: Py ferfean -

HYAH | AT U 98 S

YT - ACTARATTHR Arermar: Fafo fayet g
SUYRIB YT e, HNfAEY Rwey Sfdm 3w frd -

(1) &YFH | HYTH 1| SGH Fd &
(2)  HYTH I BYTH Il TYH 3T W
(3) HY | T S, U ST 1 e &
(4)  ®YTH | S &S, U wyE 1 T e

Options :

92090640325. 1
92090640326. 2
92090640327. 3
92090640328. 4

Question Number : 82 Question Id : 92090610208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hy: Hygd fofeay -

HUFH | ;AT UFH 9 ggd

SYTHN - ATSTURATTHR Arermar: Fafol fRyeof sedq
SUYdRIB YT Telid, ANfAfEay Rdedy I 3w R -

(1)  HYFH | FYTH 1| 3G T &:
(2) HYTH | BYTH 1| SYH A T
()  HYAH | Tl S, R FUTH 1 S e
(4)  BYTH | S ST, U HYEH 1| T s

Options :

92090640325. 1
92090640326. 2
92090640327. 3
92090640328. 4

Question Number : 83 Question Id : 92090610209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HeJ: Hygd ferfea -
) - ufsfy sfa wd geasi Ry
wYTH I ;e 3w e -y ada

(1) HYTH | YA 1 SGH §d &
(2) HYTH | HYTH Il TYH 3 &
3) HYTH | T S, U S 1 e s
(4) oy | SEd &, utg wuee i g sfE

Options :

92090640329. 1
92090640330. 2
92090640331. 3
92090640332. 4

Question Number : 83 Question Id : 92090610209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hy: Y=gy ferfeay -
sy . ufawfy gfa wu geaen fasafa
sYT I ;e 3w ey - ek ada

JudrG YN e, sreifafady ey Sfrdary 3w g -

(1)  HYTH | SYTH 1 SGH §d &
(2) HYTH | BYTH I TIH 3 T
3)  HYAH | Tl S, U FYTH 1| ey e
(4) DU | S o, utg wueE 1 g sl

Options :

92090640329. 1
92090640330. 2
92090640331. 3
92090640332. 4

Question Number : 83 Question Id : 92090610209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

3y Y=gy ferfeay -
sy . ufaefy gfa wu geaen fasafa
wYTH I ;e 3w e -y ada

Fudars YT aeld, seifafady feay Sfrddmy 3w fd -

(1) HYTH | YA 1 SGH §d &
(2) HYTH | HYTH Il TYH 3 &
3) HYTH | T S, U S 1 e s
(4) oy | SEd &, utg wuee i g sfE

Options :

92090640329. 1
92090640330. 2
92090640331. 3
92090640332. 4

Question Number : 84 Question Id : 92090610210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hel: HyTgd fofeay -

Y dEe 3fd w9 3l e yy-agaen sy
FyTH I : are 3w A s v fgdtar-agaen Risafa
SRS YA 1elds, srenferfaay fawelny femmy Iw fgd -

(1)  ®YFH | SYTH 1 5gH §d &
(2) BYTH | HYTH 1 TYH A &
3)  HYAH | T S, U FYEH 1 e S
(4) BYTH | SEU R, TR BYH 1| T s

Options :

92090640333. 1
92090640334. 2
92090640335. 3
92090640336. 4

Question Number : 84 Question Id : 92090610210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

3y Hygd fofeay -

Y AR 3fa w9 3 wegw yy-agaen sy
YN : dEe 3w 9 3 e fgdta-sgae fasafa
SURIBUAF 3HTelt, HehfifEay Reay S o g -

(1)  BYTH | SYTH 1 3GH T &
(2) BYTH | HYTH Il YH A W
3) By | T S, U HUEH 1 S R
(4) BYT | SEA &, g YA 1 T &

Options :

92090640333. 1
92090640334. 2
92090640335. 3
92090640336. 4

Question Number : 84 Question Id : 92090610210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3e): HyTgd fefean -
YT : dEe 3fa w9y 3 vegw yu-agaan s
YN - aEr 3w O s vegw Rdar-agae fieafa

(1)  BYFH | HYTH Il $H T &
(2) BYFH | HYTH 1 S A &
3) Py | T R, U FYTH 1 g S
(4)  BYTH | T &, g FYTH 1 FIH

Options :

92090640333. 1
92090640334. 2
92090640335. 3
92090640336. 4



Question Number : 85 Question Id : 92090610211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hep: Hygd ferfear -

FYTHI :  SEEE vefduf: ddg: afw

YN - e agidufoe: ddgw: gerdi: srdiq

USRI YA e, seffefEdy fasely feaany I e -
(1) Y FY T Tl &=

(2)  PYAH | HYTH I TH A &

(3) YA | H i, U FYTH 1 e i
(4) DU | T IR, T SYAH 1 T i

Options :

92090640337. 1
92090640338. 2
92090640339. 3
92090640340. 4

Question Number : 85 Question Id : 92090610211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hep: Hygd ferfear -

HYT - aEewEr vgidwfa: dde: wfa
YN - e agidufoe: ddgw: gerdi: srdiq
IuaiayTH e, seifafEdy fasedy IRy I fadd -
(1) Y FY T Tl &=

(2)  HYUTH | FYTH 1| G A

(3) YA | H i, U FYTH 1 e i

(4) DU | T IR, T SYAH 1 T i
Options :
92090640337. 1
92090640338. 2

92090640339. 3
92090640340. 4



Question Number : 85 Question Id : 92090610211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hep: Hygd ferfear -
FYTHI :  SEEE vefduf: ddg: afw
FYTHI . S agideiaos: didgR: merdte smdiq

(1) Y] FY T 9l &
(2)  PYAH | HYTH I TH A &
(3) YA | H i, U FYTH 1 e i
(4) YT | 3 M, TR HUEH 1 T

Options :

92090640337. 1
92090640338. 2
92090640339. 3
92090640340. 4

Question Number : 86 Question Id : 92090610212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hel: HyTgy fofea -
HYTH 1 AT S gt Ef
SYTH I ;- Snar-amngt g Ay vafd

IuaIH YN Sards, senfafedy ey Ifeaany 3w e -

(1)  ®YFH | HYTH Il §GH TG &:
(2)  HYFH | FYTH 1 Y A &
(3)  BYTH | HA AT, TR HYTH Il 3EIH A
(4)  BYTH | S e, U YA 1 IO e

Options :

92090640341. 1
92090640342. 2
92090640343. 3
92090640344. 4



Question Number : 86 Question Id : 92090610212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 Hy-gd fafaay -
YT ORI AP ST i
SYTH I ;- Snar-amngt g Ay vafd
BUYaRis AN SMTetd, srifef@cy feey iy S fmd -

(1)  ®YFH | HYTH Il §GH TG &:
(2)  BYTH | HYTH Il SYH A W
(3)  BYTH | HA AT, TR HYTH Il 3EIH A
(4)  BYTH | AT AR, W FYAH 1| FIH A&

Options :

92090640341. 1
92090640342. 2
92090640343. 3
92090640344. 4

Question Number : 86 Question Id : 92090610212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3¢ Y=gy fafaay -
HYTH 1 ;O P gt Ef
YT - Snr-arEEnal R PRy vafa
SUYFIBUTAM Sf1efids, Seifafady faeey Sfaar Iw fgd -

(1) &YAH | HYTH 1 5EH §d &
(2) DHUTH | HYTH Il THH A &
3) HY | T S, U S 1 ey &
4) YA | S &, avg wuEe 1 aay sfE

Options :

92090640341. 1
92090640342. 2
92090640343. 3
92090640344. 4

Question Number : 87 Question Id : 92090610213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Augd H4: g4l HrTE: fveaT -
A HEHAY

B. 4R

C. 3y

D. J=HY

Options :

92090640345. 1
92090640346. 2
92090640347. 3
92090640348. 4

Question Number : 87 Question Id : 92090610213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Augd H4: g4l HrTE: fveaT -
A HEHAY

B. 4R

C. 3y

D. J=HY

Options :
92090640345. 1



92090640346. 2
92090640347. 3
92090640348. 4

Question Number : 87 Question Id : 92090610213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hegd S gl HIETE: faves -
A HEHAY

ECEL

3{efTAY

JEHY

E.  Jund

1)  HEAHA, C

2) $dAqB,E

(
(
(3) HAaHA, D
(4) HdaqB, C

Options :

92090640345. 1
92090640346. 2
92090640347. 3
92090640348. 4

o N m

S

Question Number : 88 Question Id : 92090610214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



D. guF:

E. TRIEd
enferfacy faseiy Ifaam g fgd -
(1) @daqC D

(2) $HdaqA B CD

(3) &daqB,C D
(4) <PdAHA, D

Options :

92090640349. 1
92090640350. 2
92090640351. 3
92090640352. 4

Question Number : 88 Question Id : 92090610214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG -ae arEfor afw -

epferfaay ey Sfaamy 3w fa -
(1) @GaqC D
(2) $daqA B, C D

(3) &daqB,C D
(4) <PdAHA, D

Options :
92090640349. 1
92090640350. 2



92090640351. 3
92090640352. 4

Question Number : 88 Question Id : 92090610214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHETRI-el arfor & -
A Togeen
B. XIH-ddl
C. g
D. guFk
E. TEIddl
speferfay faeeay St I g -
(1) FAAHC, D
(2) $HdaqA B CD
(3) &daqB,C D
(4) HATHA,D
Options :

92090640349. 1
92090640350. 2
92090640351. 3
92090640352. 4

Question Number : 89 Question Id : 92090610215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y fore: Taay: Hafw -

A HT

B. 3ifHu

C diP

D. &

E oIS

srefafaay fAeedy Ifadans 3w faga

(1) hacH A, CE

(2) aaqC, D,E

(3) hdaHB,D,E

(4) <hdaHA,B,C
Options :

92090640353. 1
92090640354. 2
92090640355. 3
92090640356. 4

Question Number : 89 Question Id : 92090610215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yea fa9: Tad: Hafd -

A Tg
B. 3ifH
C diP
D. &
E oIS
sreffofady fAwedy Sfadany S faga -
(1) <haaHA,CE
(2) daqC, D,E
(3) PduHB,D,E
(4) <hdAHA, B, C
Options :

92090640353. 1
92090640354. 2



92090640355. 3
92090640356. 4

Question Number : 89 Question Id : 92090610215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ve fo: ead: Hal -

A Y

B. 3ifHu

C d%

D. &

E oF3H

srefafaay fAeedy Ifadans 3w faga

(1) daHA CE

(2) $aaHC, D, E

(3) <daHB,D,E

(4) <hdaHA,B,C
Options :

92090640353. 1
92090640354. 2
92090640355. 3
92090640356. 4

Question Number : 90 Question Id : 92090610216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



srnfefEdy wreTrsTayTd 3 I -
A TUER Ty

B. wayufi tgmmor:

C. ST

D. gay FuiRom
E Uefedrde fagy:

srenferfady fasey Ifeaany I frea -
1) &daqA C D

2) $daqA B, D

(
(
(3) $HdaqB,C E
(4) PAEHC, D, E

Options :

92090640357. 1
92090640358. 2
92090640359. 3
92090640360. 4

Question Number : 90 Question Id : 92090610216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
anfefady FrRT RIS I IR -
A dYER IfeAY
B. Faufi tigmm:

C. SNt

D. day fFufom

E. Uefedrde favs:

sffefady ey IfEaard I fgd -
1) FdaqAC, D

(
(2) daHA B, D
(
(

3) &daqB,CE
4) HIAqC, D, E

Options :

92090640357. 1
92090640358. 2
92090640359. 3



92090640360. 4

Question Number : 90 Question Id : 92090610216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
srffafaay TSy 9 G -
A dYER IfeAY
B.  wenufi v
C. TSI

D. day fFufom

E weiedide fauy:
senferfacy ey Ifeaany @ e -
(1) $daqAC,D

(2) daHA B, D
(
(

3) &daqB,CE
4) HIAqC, D, E

Options :

92090640357. 1
92090640358. 2
92090640359. 3
92090640360. 4

Question Number : 91 Question Id : 92090610217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



E o
senfertacy faseiy Ifaany 3w Req -
(1) &daqA B,E

(2) $daqA CD

(3) &daqB,C D
(4) HIAYB,D,E

Options :

92090640361. 1
92090640362. 2
92090640363. 3
92090640364. 4

Question Number : 91 Question Id : 92090610217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sreiferfaay srerdhyrasmmaer Ierevl i
A g

ARHIH

STTRA

[EGREIEE

I G
srenferfaay faseiy Ifraany I e -

(1) SdagA, B, E
(2) SdaqA C D
(3) $HdaqB,C D
(4) <PHduHB,D,E

O N w

Options :
92090640361. 1
92090640362. 2



92090640363. 3
92090640364. 4

Question Number : 91 Question Id : 92090610217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeNferfady sreadhyraagrre Il ifar

A e

B. IRYOH

C. JUTRA

D. [omeg:

E e

(1) &daqA B,E

(2) $daqA CD

(3) &daqB,C D

(4) HIAHB, D, E
Options :

92090640361. 1
92090640362. 2
92090640363. 3
92090640364. 4

Question Number : 92 Question Id : 92090610218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



D. aifaRn

e fa

(1) $HdaqA, B

(2) FdaqA, C
(
(

3) @daqB,C
4) &HdUHB,D

Options :

92090640365. 1
92090640366. 2
92090640367. 3
92090640368. 4

Question Number : 92 Question Id : 92090610218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST - FHTe: Her: wfw -
A fauda:

B. JUMEYUTa:

C.  HIUdG:

D. faen

E fs

1) <$daHA, B

2) FddqA,C

(
(
(3) $Hdaqgs.,cC
(4) $adadB, D

Options :
92090640365. 1
92090640366. 2



92090640367. 3
92090640368. 4

Question Number : 92 Question Id : 92090610218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST - ga79: 9T |+ -

Options :

92090640365. 1
92090640366. 2
92090640367. 3
92090640368. 4

Question Number : 93 Question Id : 92090610219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) HdaHA E
(2) @dEqD

(3) $audD,C
(4) <PdUHD, B

Options :

92090640369. 1
92090640370. 2
92090640371. 3
92090640372. 4

Question Number : 93 Question Id : 92090610219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PrafifRy f dardy 7 oReomay
A BE

B. SR

c. fRan

D. &Sy

. [e@y

(1) HdaHdA E
2) HAAAD
(3) $aaHD,C
(4) HaaHD, B

Options :

92090640369. 1
92090640370. 2
92090640371. 3



92090640372. 4

Question Number : 93 Question Id : 92090610219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Praferfaay fF dardy 7 aRmvad;
A T
B. oIV
c. TRem
D. ®IUsH
. [e@y
srhfef@ay Rewy Sfmaes 3w R
(1) HAaHAE
(2) &daHD
(3) @daHD,C
(4) DdEHD, B
Options :

92090640369. 1
92090640370. 2
92090640371. 3
92090640372. 4

Question Number : 94 Question Id : 92090610220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dbEagrIaR yHi gt fadtom = v dadd -

- e
(a)  Paffor o g
@ e ay  agfdufa:
(€ oA iy 93
(D) IO (vy 4

(1 (A)-(n), (B)-(1), (C)-(1V), (D)-(1)
(&) (A)-(), (B)-(V), (C)-(1), (D)-(1h)
(3)  (A)-(IV), (B)-(1), (C)-(11), (D)-(l)
(@) (A)=(), (B)-(I), (C)-(IV), (D)-(1)

Options :

92090640373. 1
92090640374. 2
92090640375. 3
92090640376. 4

Question Number : 94 Question Id : 92090610220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dbausER vy gt fadtoan g=u ¥e Aayd -
gl T
(A)  THHIOT o
@ Uk ay  agfdfa:
(C) S R
() T (v) 4

(1 (A)=(In), (B)-(1), (C)-(1V), (D)-(1)
(&) (A)=(), (B)-(1V), (C)-(1), (D)-(1)
(3)  (A)-(IV), (B)-(1), (C)-(11), (D)-(l1)
(4 (A)-(), (B)-(I), (C)-(IV), (D)-(1)

Options :

92090640373. 1
92090640374. 2
92090640375. 3
92090640376. 4



Question Number : 94 Question Id : 92090610220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dbEagHER yHi gt fEdto g=a v dadd -

- Tt
(a) AT n I
8 Tanf: my wgfdaa:
(C) AT ERE]
(D) TOM: (v

(1) (A}-(), (B)-(1), (C)-(IV), (D)-(I)
(2) (A}, (B)-(1V), (C)-(1), (D)-(10)
(3)  (A}-(V), (B)-(1), (C)-(10), (D)-(l1)
(4)  (A}-(), (B)-(I), (C)-(1V), (D)-(1)

Options :

92090640373. 1
92090640374. 2
92090640375. 3
92090640376. 4

Question Number : 95 Question Id : 92090610221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v g fecfaan g=r 9 feyd -

L& et
(A WYH m I
® @ w Y
© gl @y B
() aYd (V) <M

(1) (A)-(V), (B)-(11), (C)-(D), (D)-(11)
(2)  (A)-(V), (B)-(1), (C)-(ID), (D)-(l1)
(3)  (A)-(l), (B)-(1V), (C)-(i), (D)-(1)
(4) (A}, (B)-(I1), (C)-(1H), (D)-(IV)



Options :

92090640377. 1
92090640378. 2
92090640379. 3
92090640380. 4

Question Number : 95 Question Id : 92090610221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

vt gl fecflan gen ag ey -

et Teitn
(A)  TYH Ui
® odi m Sy
© g5 @y @
() dYd v) @

(1} (A)-(V), (B)-(11), (C)-(1), (D)-(11)
(2} (A)-(V), (B)-(1), (C)-(1), (D)-(l1)
(3} (A)-(), (B)-(IV), (C)-(I11), (D)-(1)
(4} (A=), (B)-(11), (C)-(), (D)-(1V)
Options :

92090640377. 1

92090640378. 2

92090640379. 3

92090640380. 4

Question Number : 95 Question Id : 92090610221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



vt g fecftaan = 9 Aoy -

Tl Tt
(& Wy M B
® &ft m Y
© Gl any S
o) Y vy e
(1 (A)-(V), (B)-(11), (C)-(1), (D)-(HN)
(2)  (A)-(V), (B)-(1), (O)-(11), (D)-(l1)
(3)  (A)-(), (B)-(IV), (C)-(I1), (D)-(1)
() (A)-(1), (B)-(I1), (C)-(1), (D)-(IV)

Options :

92090640377. 1
92090640378. 2
92090640379. 3
92090640380. 4

Question Number : 96 Question Id : 92090610222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl Gl
(A) dEodTE: (1 ifderdey
B) Mol () OFdaH
© fawpzmf (y Hagaq

Options :

92090640381. 1
92090640382. 2
92090640383. 3
92090640384. 4



Question Number : 96 Question Id : 92090610222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WYH =i fedigdn g=41 98 Hadd -

gl il
(A) dEHTE: n fasaey
B) Hdel: () U
© fawpzmf (y HEgaq
(D) PIfCIET: (v) SegTagial
sreffafady fawey Sfadany S fagd -
(M (A)-(IV), (B)-(1), (C)-(I1), (D)-(1)
(2)  (A)-(), (B)-(IV), (C)-(N), (D)-(1)
(3)  (A)-(I), (B)-(IV), (C)-(l1), (D)-(1)
@) (A=), B)-(), (-1, (D)-(IV)

Options :

92090640381. 1
92090640382. 2
92090640383. 3
92090640384. 4

Question Number : 96 Question Id : 92090610222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GElE G-I
(A) dGoAN: OEGIIGEIGE
(B) H{slt I OFdE
 fawpzm (ny HEgdH
(D) IiCE: (v) diEgTagial
(1 A)-(IV), (B)-(1), (C)-(lI), (D)-(111)

1), (B)-(IV), (C)-(1), (D)-(l11)
1), (B)-(1V), (C)-(11), (D)-(1)
1), (B)-(11), (C)-(1), (D)-(IV)

)
(3 )
(4

A

)
(2)
)
) A

(A)-(
(A)-(
(A)-(
(A)-(



Options :

92090640381. 1
92090640382. 2
92090640383. 3
92090640384. 4

Question Number : 97 Question Id : 92090610223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

v g fgcftaan gan g Jeud -

el SIS
() auigra () JcHEm
(B) WP FHF HRITETH, () ST
(€ YA 3fHe: () THGH
o) % ufa P quii g g (Iv) ®UHH
(1) (A)=(), (B)-(1), (C)-(11), (O)-(1V)
(2} (A)-(V), (B)-(11), (C)-(1), (D)-(1)
3y (A=), (B)-(1), (C)-(11), (D)-(1V)
(@) (A=), (B)-(1), (C)-(1V), (D)-(111)

Options :

92090640385. 1
92090640386. 2
92090640387. 3
92090640388. 4

Question Number : 97 Question Id : 92090610223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



vl g o g=n T Aegd -

- g
() aufEmay () S
(B) WP GHA FRITEH (ny  3AIUTE:
(€ JIUHFATETT: HUE: () THEYH
o) ey i qo=i g yfo: (V) FUHY

(1) (A)=(D), (B)-(11), (C)-(N), (D)-(IV)
(2)  (A)-(IV), (B)-(11), (C)-(i), (D)-(1)
(3) (A}, (B)-(1), (C)-(111), (D)-(IV)
(4) (A}, (B)-(1), (C)-(1V), (D)-(111)

Options :

92090640385. 1
92090640386. 2
92090640387. 3
92090640388. 4

Question Number : 97 Question Id : 92090610223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i = fecftaan gean 98 faad -

SEil i
() guigrEg m I
(8) U HHT HrUTETH (n  SFIAR:
(€ JUHHITHT!: 3HeE: (y THHH
) e afe i qor=i ga: gfo: (V) EUHY
senferfaay fawey Ifedany 3w fa -
(1y (A=), (B)-(I1), (C)-(l1), (D}-(IV)
(2)  (A}-(V), (B)-(IN), (C)-(111), (D)-(1)
(3 (A)-(0), (B)-(1), (C)-(11), (D}-(IV)
(4)  (A)-(0), (B)-(1), (C)-(1V), (D)-(111)

Options :

92090640385. 1
92090640386. 2
92090640387. 3
92090640388. 4



Question Number : 98 Question Id : 92090610224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wYH gt fediaan g=ar 98 fagd -
- SEisl

(a)  SeaTdf Higd! H1eIH ) e
(8) dshlfei: PIedGlIiddH (I HHE:
(C) T Ef: () <Ust
) IR aEfeprfaafmugEdt  v) Faa
ey famey Ifaaay Il ’Riga

(m (A=), (B)-(IV), (C)-(1), (D)-(1)

(2)  (A)-(, (B)-(), (C)-(V), (D)-(1)

(3)  (A)-(), (B)-(V), (C)-(I1), (D)-(1)

4 (A)-(V), (B)-(1), (C)-(IN), (D)-(1)

Options :

92090640389. 1
92090640390. 2
92090640391. 3
92090640392. 4

Question Number : 98 Question Id : 92090610224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wuHi gt fgdiaa gean 98 dadd -

- gt
(A) st Hfget Py 0 I
(B) Oehifad: HISddH ) HHE:
(C) HIHHHT Ei: () <uSt
0) IR dEepeEfsaueEd v P
srefafaay fAwady Ifadans 3w faga
(1) (A1), (B)-(V), (O-(1), (D)-(1)
) (A)-(I), (B)-(IN), (©)-(V), (D)-()
3) (A, B)-V), (©)-(), (D)-()
(@) (AW)-0V), B)-(, (O)-(, (D)-()



Options :

92090640389. 1
92090640390. 2
92090640391. 3
92090640392. 4

Question Number : 98 Question Id : 92090610224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wuHi gt fgdiaa gean 98 dadd -

- gt
(A)  eaTdl Wil P1eaH 0 A
(B) Oehifad: HISddH ) HHE:
(C) AT /i iy guat
0) IR dEepeEfsaueEd v P
srefafaay fAwady Ifadans 3w faga
(m (A)-(11), (B)-(IV), (C)-(1), (D)-(11)
(2) (A)-(11), (B)-(111), (C)-(IV), (D)-(1)
(3) (A)-(111), (B)-(IV}, (C)-(11), (D)-(1)
(4) (A)-(IV), (B)-(11), (C)-(I1), (D)-(1)

Options :

92090640389. 1
92090640390. 2
92090640391. 3
92090640392. 4

Question Number : 99 Question Id : 92090610225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



() FAHTEgAd @ afE e

(8) ez oy deredifed w9
© 8 saffam oy AfeEt i
0) W g (1v) TEgyE TT: Rraff

(1 (A)-(1), (B)-(1), (C)-(), (D)-(IV)
(2 (A)-(11), (B)-(1), (C)-(1V), (D)-(11)
(3 (A)-=(11), (B)-(1), (C)-(1V), (D)-(I1)
(@) (A)=(I), (B)-(IN), (C)-(IV), (D)-(1)

e

(
(
(
(

Options :

92090640393. 1
92090640394. 2
92090640395. 3
92090640396. 4

Question Number : 99 Question Id : 92090610225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
vt =t fctoan y=n we fagd -

- -
() FIHGEYH o R areET:
(8) wfEsEa OB Lis Gl EGAE R
© & waffen iy AR e
) g (v)  gETgyE 71 fRrafoh

(1) (A}, (B)-(I1), (C)-(11), (D)-(IV)
(2) (A}, (B)-(), (C}-(1V), (D)-(1I1)
(3) (A}, (B)-(1), (C)-(1V), (D)-(IT)
(4) (A}, (B)-(I1), (C)-(1V), (D)-(1)

Options :

92090640393. 1
92090640394. 2
92090640395. 3
92090640396. 4



Question Number : 99 Question Id : 92090610225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

vyt gt fgcftoan gem bg fegd -

- g
(&)  TAHTEIY o g @ ST
(8) TfE=sdan oy deremdiid o
© T8 afgg iy A s
D) WA g (v) TEEgYE TT: Rrafu

(1) (A}, (B)-(I), (C)-(11), (D)-(IV)
(2) (A}, (B)-(1), (C}-(1V), (D)-(1I)
(3)  (A)-(l), (B)-(1), (C)-(1V), (D)-(1)
(@) (A)-(I), (B)-(I), (C)-(1V), (D)-(1)

Options :

92090640393. 1
92090640394. 2
92090640395. 3
92090640396. 4

Question Number : 100 Question Id : 92090610226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA gt fg o g=ar 98 Aagd -
-1 i

(a)  diTE: 1) HaH

(B) dIHERE: ay Iedms:

(€ HIHIE: (my faeE:

(D) SEYATE: (V) ST

(1 (A=), (B)-(IV), (C)-(1), (D)-(1)

(2) (A=), (B)-(11), (C)-(1n), (D)-(1V)

(3)  (A)-(IV), (B)-(), (C)-(l1), (D)-(1)

(4 (A)-(In), (B)-(IV), (C)-(1), (D)-()



Options :

92090640397. 1
92090640398. 2
92090640399. 3
92090640400. 4

Question Number : 100 Question Id : 92090610226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wuHi T T iaan year ¥e dadd -
- I

(A) dRTE: 0 HEH

(B) dIHEE: an Jodrg:

(C) YOHHIE: any fawra:

(D) SGYIRH: (v) ST

Sefferfady faway Ifaaany I fagd

(1) (A)-(11), (B)-(IV), (C)-(1), (D)-(l1)

(2) (A)-(1), (B)-(11), (C)-(l1), (D)-(IV)

(3) (A)-(IV), (B)=(I1}, (C)-(I1), (D)-(1)

(4) (A)-(11), (B)-(1V}, (C)-(1), (D)-(I)

Options :

92090640397. 1
92090640398. 2
92090640399. 3
92090640400. 4

Question Number : 100 Question Id : 92090610226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TYHT Gt fgdaan =1 98 Aadd -

- SISl
(a) AR M Ha9q
(B) dAIHEIE: ay I
© HOHHIE: @y faum:
(D) HgHdId: (V) oI
efferiady fAeay Sfadany 3o fagd -
(1) (A)-(11), (B)-(IV), (C)-(I), (D)-(I1)
(2)  (A)-(1), (B)-(l1), (C)-(Hm), (D)-(IV)
(3)  (A)-(IV), (B)-(I1), (C)-(I1), (D)-(N)

@) (A)-(), (B)-(v), (©)-(1), (D)-()

Options :

92090640397. 1
92090640398. 2
92090640399. 3
92090640400. 4



